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11 Introduction to Momentum Transport

Momentum transport deals with the transport of momentum which is responsible for flow in
fluids. Momentum transport describes the science of fluid flow also called fluid dynamics. A few
basic assumptions are involved in fluid flow and these are discussed below.

No slip boundary condition

This is the first basic assumption used in momentum transport. It deals with the fluid flowing
over a solid surface, and states that whenever a fluid comes in contact with any solid boundary,
the adjacent layer of the fluid in contact with the solid surface has the same velocity as the solid
surface. Hence, we assumed that there is no slip between the solid surface and the fluid or the
relative velocity is zero at the fluid—solid interface. For example, consider a fluid flowing inside
a stationary tube of radius R as shown in Fig 7.1. Since the wall of the tube at r=R is stationary,
according to the no-slip condition implies that the fluid velocity at r=R is also zero.

Fig 1 Fluid flow in a circular tube of radius R

In the second example as shown in Fig. 7.2, there are two plates which are separated by a
distance h, and some fluid is present between these plates. If the lower plate is forced to move
with a velocity V in x direction and the upper plate is held stationary, no-slip boundary
conditions may be written as follows
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Fig 2 Two parallel plates at stationary condition



Thus, every layer of fluid is moving at a different velocity. This leads to shear forces which are
described in the next section.

12 Newton’s Law of Viscosity

Newton’s law of viscosity may be used for solving problem for Newtonian fluids. For many
fluids in chemical engineering the assumption of Newtonian fluid is reasonably acceptable. To
understand Newtonian fluid, let us consider a hypothetical experiment, in which there are two
infinitely large plates situated parallel to each other, separated by a distance h. A fluid is present
between these two plates and the contact area between the fluid and the plates is A.

A constant force F1 is now applied on the lower plate while the upper plate is held stationary.
After steady state has reached, the velocity achieved by the lower plate is measured as V1. The
force is then changed, and the new velocity of the plate associated with this force is measured.

If the F/A is plotted against VV/h, we may observe that they lie on a straight line passing through
the origin.
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Fig 3 Shear stress vs. shear stain

Thus, it may be said that F/A is proportional to v/h for a Newtonian fluid.
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It may be noted that it is the velocity gradient which leads to the development of shear forces.
The above equation may be re-written as
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In the limiting case, as # — 0, we have

Y dy
where, W is a constant of proportionality, and is called as the viscosity of the fluid. The quantity

Ty i
F/A represents the shear forces/stress. It may be represented as Yx- , Where the subscript x
indicates the direction of force and subscript y indicates the direction of outward normal of the
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surface on which this force is acting. The quantity dv or the velocity gradient is also called
the shear rate. [ is a property of the fluid and is measured the resistance offered by the fluid to
flow. Viscosity may be constant for many Newtonian fluids and may change only with
temperature.

Thus, the Newton’s law of viscosity, in its most basic form is given as

_ + d‘;x
fe =M dy
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Here, both ‘+’ or ‘—’ sign are valid. The positive sign is used in many fluid mechanics books
whereas the negative sign may be found in transport phenomena books. If the positive sign is

(5% N o Ty
used then = may be called the shear force while if the negative sign is used Yx- may be
referred to as the momentum flux which flows from a higher value to a lower value.

dvx
r_=+p— —> Shear force
avx
T, =—H A — Momentum flux

The reason for having a negative sign for momentum flux in the transport phenomena is to have
similarities with Fourier's law of heat conduction in heat transport and Ficks law of diffusion in
mass transport. For example, in heat transport, heat flows from higher temperature to lower

temperature indicating that heat flux is positive when the temperature gradient is negative. Thus,

T
a minus sign is required in the Fourier's law of heat conduction. The interpretation of YE- as
the momentum flux is that x directed momentum flows from higher value to lower value in 'y
direction.

The dimensions of viscosity are as follows:
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The Sl unit of viscosity is kg/m.s or Pa.s. In CGS unit is g/cm.s and is commonly known as poise
(P). where 1 P =0.1 kg/m.s. The unit poise is also used with the prefix centi-, which refers to
one-hundredth of a poise, i.e. 1 cP =0.01 P. The viscosity of air at 25°C is 0.018 cP, water at

25°Cis 1 cP and for many polymer melts it may range from 1000 to 100,000 cP, thus showing a
long range of viscosity.
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13 Laminar and turbulent flow

Fluid flow can broadly be categorized into two kinds: laminar and turbulent. In laminar flow, the
fluid layers do not inter-mix, and flow separately. This is the flow encountered when a tap is just
opened and water is allowed to flow very slowly. As the flow increases, it becomes much more
irregular and the different fluid layers start mixing with each other leading to turbulent flow.
Osborne Reynolds tried to distinguish between the two kinds of flow using an ingenious
experiment and known as the Reynolds’s experiment. The basic idea behind this experiment is
described below.

14 Reynolds’s experiment
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Fig 5 Reynolds’s experiments

The experiment setup used for performing the Reynolds's experiment is shown in Fig. 5. The
average velocity of fluid flow through the pipe diameter can be varied. Also, there is an
arrangement to inject a colored dye at the center of the pipe. The profile of the dye is observed
along the length of the pipe for different velocities for different fluids. If this experiment is
performed, it may be seen that for certain cases the dye shows a regular thread type profile, which
is seen at low fluid velocity and flow is called laminar flow. when the fluid velocity is increased
the dye starts to mixed with the fluid and for larger velocities simply disappears. At this point
fluid flow becomes turbulent.

For the variables average velocity of fluid v; avg, pipe diameter D, fluid density p, and the fluid
viscosity |, Reynolds found a dimensionless group which could be used to characterize the type
of fluid flow in the tube. This dimensionless quantity is known as the Reynolds number. From
the experiment, It was observed that if Re >2100, the dye simply disappeared and the flow has
changed to laminar to turbulent flow.



Thus, for Re <2100, we have laminar flow, i.e., no mixing in the radial direction leading to a
thread like flow and for Re >2100, we have the turbulent flow, i.e., mixing in the radial direction
between layers of fluid.

In laminar flow, the fluid flows as a stream line flow with no mixing between layers. In turbulent
flow, the fluid is unstable and mixes rapidly due to fluctuations and disturbances in the flow. The
disturbance might be present due to pumps, friction of the solid surface or any type of noise
present in the system. This makes solving fluid flow problem much more difficult. To understand
the difference in the velocity profile in two kinds of fluid flows, we consider a fluid flowing to a
horizontal tube in z direction under steady state condition. Then, we can intuitively see the
velocity profile may be shown below

For laminar flow, it is observed that fluid flows as smooth stream line and all other components
of velocity are zero. Thus

A :vz(r)
v, =0

v, =0

For turbulent flow, if we observe the fluid flows at a local point. It is observed that fluid flows in
very random manner in all directions where these local velocities may be the function of any
dimensions.

v Sv(r.z0.1)

v. =v (r,2,0.1)
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Thus, we see that for laminar flow there is only one component of velocity present and it depends
only on one coordinate whereas the solution of turbulent flow may be vary complex. For turbulent
flow, one can ask the question that if the fluid is flowing in the z direction then why are the velocity
components in r and @ direction non-zero? The mathematical answer for this question can be
deciphered from the equation of motion. The equation of motion is a non-linear partial differential
equation. This non-linear nature of the equation causes instability in the system which produces
flow in other directions. The instability in the system may occur due to any disturbances or noise
present in the environment. On the other hand, if the velocity of fluid is very low the deviation due
to disturbances may decay with time, and becomes negligible after that. Thus the flow remains in
laminar region. Consider a practical example in which some cars



are moving on the highway in the same direction but in the different lanes at different speeds. If
suddenly, some obstacle comes on the road, then if the car's speed is sufficiently low, it can move
on to other lane smoothly and come back to its original lane after the obstacle is crossed. This is
the regular laminar case. On the other hand, if the car is moving at a high speed and suddenly
encounters an obstacle, then the driver may lose control, and this car may move haphazardly and
hit other cars and after that traffic may never return to normal traffic conditions. This is the turbulent
case.

1.4.1 Internal and external flows

Depending on how the fluid and the solid boundaries contact each other, the flow may be
classified as internal flow or external flow. In internal flows, the fluid moves between solid
boundaries. As is the case when fluid flows in a pipe or a duct. In external flows, however, the
fluid is flowing over an external solid surface, the example may be sited is the flow of fluid over
a sphere as shown in Fig. 8.1.

Fig 8.1 External flow around a sphere
Boundary layers and fully developed regions

Let us now consider the example of fluid flowing over a horizontal flat plate as shown in Fig.

8.2. The velocity of the fluid is * before it encounters the plate. As the fluid touches the
plate, the velocity of the fluid layer just adjacent to the plate surface becomes zero due to the no
slip boundary condition. This layer of fluid tries to drag the next fluid layer above it and reduces
its velocity. As the fluid proceeds along the length of the plate (in x-direction), each layer starts
to drag adjacent fluid layer but the effect of drag reduces as we go further away from the plate in
y-direction. Finally, at some distance from the plate this drag effect disappears or becomes
insignificant. This region where the velocity is changing or where the velocity gradients exists, is
called the boundary layer region. The region beyond boundary layer where the velocity gradients
are insignificant is called the potential flow region.

10
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Fig 8.2 External flow over a flat plate

As depicted in Fig. 8.2, the boundary layer keeps growing along the x-direction, and may be
referred to as the developing flow region. In internal flows (e.g. fluid flow through a pipe), the
boundary layers finally merge after flow over a distance as shown in Fig. 8.3 below.

r‘i’;::.“"i“g How Fully developed flow
V.lr)

Fig 8.3 Developing flow and fully developed flow region
The region after the point at which the layers merge is called the fully developed flow region and
before this it is called the developing flow region. In fact, fully developed flow is another
important assumption which is taken for finding solution for varity of fluid flow problem. In the
fully developed flow region (as shown in Figure 8.3), the velocity vz is a function of r direction
only. However, the developing flow region, velocity vz is also changing in the z direction.
Main axioms of transport phenomena
The basic equations of transport phenomena are derived based on following five axioms.

Mass is conserved, which leads to the equation of continuity.

Momentum is conserved, which leads to the equation of motion.

Moment of momentum is conserved leads to an important result that the 2nd order

T
stress tensor " issymmetric.
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Energy is conserved, which leads to equation of thermal energy.

Mass of component i in a multi-component system is conserved, which leads to
the convective diffusion equation.

The solution of equations, resulting from axiom 2, 4 and 5 leads to the solution of velocity,
temperature and concentration profiles. Ones these profiles are known, all other important
information needed can be determined. We first take the axiom -1. Other axioms will be taken up
one by one letter on.

There are three types of control volumes (CV) which may be chosen for deriving the equations
based these axioms.

Rectangular shaped control volume fixed in space

In this case, the control volume is rectangular volume element and is fixed in space. This method
is the easiest to understand but requires more number of steps.

Irregular shaped control volume element fixed in space

In this case, the control volume can be of any shape, but it is again fixed in space. This method is
somewhat more difficult than the previous method as it requires little better understanding vector
analysis and surface and volume integrals.

Material volume approach

In this case, the control volume can be of any shape but moves with the velocity of the flowing
fluid. This method is most difficult in terms of mathematics, but requires least number of steps
for deriving the equations.

All three approaches when applied to above axiom, lead to the same equations. In this web
course, we follow the first approach. Other approaches may be found elsewhere.
Axioms-1

Mass is conserved

Consider a fluid of density p flowing with velocity ¥ as shown in Fig. 8.4. Here, p and ¥
are functions of space (x,y,z) and time (t). For conversion of mass, the rate of mass entering and
leaving from the control volume (net rate of inflow) has to be evaluated and this should be equal
to the rate of accumulation of mass in the control volume (CV). Thus, conservation of mass may
be written in words as given below

rate of accumulation of rate of inflow of mass rate

mass in control volume into control volume out

12
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Fig 8.4 Fixed rectangular volume element through which fluid is flowing

The equation is then divided by the volume of the CV and converted into a partial differential
equation by taking the limit as all dimensions go to zero. This limit effectively means that CV
collapses to a point, thereby making the equation valid at every point in the system.

Let m and m+Am be the mass of the control volume at time t and t+At respectively. Then,the
rate of accumulation,

cm O
—=—(pAxAyAz
y al‘(p*w )

In order to evaluate the rate of inflow of mass into the control volume, we need to inspect how
mass enters the control volume. Since the fluid velocity has three components vx, vy and vz, we
need to identify the components which cause the inflow or the outflow at each of the six faces of
the rectangular CV. For example, it is the component vx which forces the fluid to flow in the x
direction, and thus it makes the fluid enter or exit through the faces having area AyAz at x = x
and x = x+Ax respectively. The component vy forces the fluid in y direction, and thus it makes
the fluid enter or exit through the faces having area AxAz at y =y and y = y+Ay respectively.
Similarly, the component vz forces the fluid to flow in z direction, and thus it makes fluid enter
or exit through the faces having area AxAy at z =z and z = z+A z respectively.

The rate mass entering in x direction through the surface AyAz is (pvxAyAz|x), the rate of mass
entering in y direction through the surface AxAz is (pvyAxAz|y) and the rate of mass entering
from z direction through the surface AxAy is (pvzAxAy|z). In a similar manner, expressions for
the rate of mass leaving from the control volume may be written.

Thus, the conservation of mass leads to the following expressions

13
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Dividing the Equation (8.1) by the volume AxAyAz, we obtain

op :[(p"x) oLV, ) s } + (pt‘y) |J' —(pv},) I}'+_‘\,\' +[(P‘)
ot Ax Ay

P
Az

Note that each term in Equation (8.2) has the unit of mass per unit volume per unit time. Now,
taking the limits Ax—0, Ay—0 and Az—0, we get

+ lim
ot &0 Ax

Ay—0 Ar Az—0 |:

o

and using the definition of derivative, we finally obtain

op _ | dpv,) o e(pv,) " d(pv,)
ot ox oy 0z

Equation (8.4) is applicable to each point of the fluid. Rearranging the terms, we get the equation
of continuity, may be written as given below.

dp 0 o o
—+—(pv.)+—(pv.)+—(pv,)=0
TR e

We need not to derive the equation of continuity again and again in other coordinate system (that
is, spherical or cylindrical). The idea is to rewrite Equation (8.5) in vector and tensor form. Once

it is written in this form, the same equation may be applied to other coordinate system as well.
Thus, the Equation (8.5) may be rewritten in vector and tensor form as shown below.

L1V(pr)=0
ot

Vector and tensor analysis of cylindrical and spherical coordinate systems is not done here, and
can be looked up elsewhere. Thus, the final expressions in cylindrical and spherical coordinates

14



are given as below.

cylindrical coordinates (r, 0, z)

15) 10 1 0 %)
L= (prv,)+ == () + = (pv,) =0
ot ror r ol oz

Spherical coordinates (r, 6, @)

dp 1 0 1 1
—+ — rv +———— v, sin @ +——— 0
ot r° or prY,) rsin@ ¢ (,O ) rsin @ & (p o) =

Equation of continuity in terms of substantial derivative

The second term in Equation (8.6) may be broken into two parts as shown below. Partial
derivative present in the Equation (8.6) can be converted into substantial derivative using vector
and tensor identities.

Q3+y?p+pr=0

o

In the above equation, the first two terms may be combined using the definition of substantial
derivative to obtain the following equation.

)
Iﬁ + pV\ =0
Dt

In some cases, the fluid may be incompressible, i.e. density p is a constant with time as well as
space coordinates. For example, water may be assumed as an incompressible fluid under
isothermal conditions. In fact, all liquids may be assumed as incompressible fluids under
isothermal conditions. For this special case, the equation of continuity may be further simplified
as shown below

Va=0 (pis constant)

The above equation for an incompressible fluid does not mean that the system is under steady
state conditions. The velocity of the fluid may still be a function of time. It only implies that if
the velocity of the fluid changes in a particular direction (x, y or z) then it should also change in
the other directions such that mass is conserved without changing its density. The equation of
continuity provides additional information about the velocity profile and helps in solution of

15



15 EQUATION OF MOTION.
Internal and external flows

Depending on how the fluid and the solid boundaries contact each other, the flow may be
classified as internal flow or external flow. In internal flows, the fluid moves between solid
boundaries. As is the case when fluid flows in a pipe or a duct. In external flows, however, the
fluid is flowing over an external solid surface, the example may be sited is the flow of fluid over
a sphere as shown in Fig. 8.1.

Fig External flow around a sphere
Boundary layers and fully developed regions

Let us now consider the example of fluid flowing over a horizontal flat plate as shown in Fig.

8.2. The velocity of the fluid is * before it encounters the plate. As the fluid touches the
plate, the velocity of the fluid layer just adjacent to the plate surface becomes zero due to the no
slip boundary condition. This layer of fluid tries to drag the next fluid layer above it and reduces
its velocity. As the fluid proceeds along the length of the plate (in x-direction), each layer starts
to drag adjacent fluid layer but the effect of drag reduces as we go further away from the plate in
y-direction. Finally, at some distance from the plate this drag effect disappears or becomes
insignificant. This region where the velocity is changing or where the velocity gradients exists, is
called the boundary layer region. The region beyond boundary layer where the velocity gradients
are insignificant is called the potential flow region.

v: VI
y K —» Boundary layer
X (keeps on growing with x)
‘ ! L J

Fig External flow over a flat plate
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As depicted in Fig. 8.2, the boundary layer keeps growing along the x-direction, and may be
referred to as the developing flow region. In internal flows (e.g. fluid flow through a pipe), the
boundary layers finally merge after flow over a distance as shown in Fig. 8.3 below.

E::-Wi"g flow Fully developed flow
region /
Vilr)

Fig Developing flow and fully developed flow region

The region after the point at which the layers merge is called the fully developed flow region and
before this it is called the developing flow region. In fact, fully developed flow is another
important assumption which is taken for finding solution for varity of fluid flow problem. In the
fully developed flow region (as shown in Figure 8.3), the velocity vz is a function of r direction
only. However, the developing flow region, velocity vz is also changing in the z direction.

Main axioms of transport phenomena
The basic equations of transport phenomena are derived based on following five axioms.

Mass is conserved, which leads to the equation of continuity.
Momentum is conserved, which leads to the equation of motion.

Moment of momentum is conserved leads to an important result that the 2nd order

T
stress tensor ~  issymmetric.

Energy is conserved, which leads to equation of thermal energy.

Mass of component i in a multi-component system is conserved, which leads to
the convective diffusion equation.

The solution of equations, resulting from axiom 2, 4 and 5 leads to the solution of velocity,
temperature and concentration profiles. Ones these profiles are known, all other important
information needed can be determined. We first take the axiom -1. Other axioms will be taken up
one by one letter on.

There are three types of control volumes (CV) which may be chosen for deriving the equations
based these axioms.

17



Rectangular shaped control volume fixed in space

In this case, the control volume is rectangular volume element and is fixed in space. This method
is the easiest to understand but requires more number of steps.

Irregular shaped control volume element fixed in space

In this case, the control volume can be of any shape, but it is again fixed in space. This method is
somewhat more difficult than the previous method as it requires little better understanding vector
analysis and surface and volume integrals.

Material volume approach

In this case, the control volume can be of any shape but moves with the velocity of the flowing
fluid. This method is most difficult in terms of mathematics, but requires least number of steps
for deriving the equations.

All three approaches when applied to above axiom, lead to the same equations. In this web
course, we follow the first approach. Other approaches may be found elsewhere.
Axioms-1

Mass is conserved

Consider a fluid of density p flowing with velocity ¥ as shown in Fig. 8.4. Here, p and ¥
are functions of space (x,y,z) and time (t). For conversion of mass, the rate of mass entering and
leaving from the control volume (net rate of inflow) has to be evaluated and this should be equal
to the rate of accumulation of mass in the control volume (CV). Thus, conservation of mass may
be written in words as given below

rate of accumulation of rate of inflow of mass rate

mass in control volume into control volume out

18
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Fig 8.4 Fixed rectangular volume element through which fluid is flowing

The equation is then divided by the volume of the CV and converted into a partial differential
equation by taking the limit as all dimensions go to zero. This limit effectively means that CV
collapses to a point, thereby making the equation valid at every point in the system.

Let m and m+Am be the mass of the control volume at time t and t+At respectively. Then, the
rate of accumulation,

cm O
— = —(pAxAyAz
y 69t(p’c; )

In order to evaluate the rate of inflow of mass into the control volume, we need to inspect how
mass enters the control volume. Since the fluid velocity has three components vx, vy and vz, we
need to identify the components which cause the inflow or the outflow at each of the six faces of
the rectangular CV. For example, it is the component vx which forces the fluid to flow in the x
direction, and thus it makes the fluid enter or exit through the faces having area AyAz at x = x
and x = x+Ax respectively. The component vy forces the fluid in y direction, and thus it makes
the fluid enter or exit through the faces having area AxAz at y =y and y = y+Ay respectively.
Similarly, the component vz forces the fluid to flow in z direction, and thus it makes fluid enter
or exit through the faces having area AxAy at z =z and z = z+A z respectively.

The rate mass entering in x direction through the surface AyAz is (pvxAyAz[x), the rate of mass
entering in y direction through the surface AxAz is (pvyAxAz|y) and the rate of mass entering
from z direction through the surface AxAy is (pvzAxAy|z). In a similar manner, expressions for
the rate of mass leaving from the control volume may be written.

Thus, the conservation of mass leads to the following expressions

19
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Dividing the Equation (8.1) by the volume AxAyAz, we obtain

op :[(p"x) oLV, ) s } + (pt‘y) |J' —(pv},) I}'+_‘\,\' +[(P‘)
ot Ax Ay

P
Az

Note that each term in Equation (8.2) has the unit of mass per unit volume per unit time. Now,
taking the limits Ax—0, Ay—0 and Az—0, we get

+ lim
ot &0 Ax

Ay—0 Ar Az—0 |:

o

and using the definition of derivative, we finally obtain

op _ | dpv,) o e(pv,) " d(pv,)
ot ox oy 0z

Equation (8.4) is applicable to each point of the fluid. Rearranging the terms, we get the equation
of continuity, may be written as given below.

dp 0 o o
—+—(pv.)+—(pv.)+—(pv,)=0
TR e

We need not to derive the equation of continuity again and again in other coordinate system (that
is, spherical or cylindrical). The idea is to rewrite Equation (8.5) in vector and tensor form. Once

it is written in this form, the same equation may be applied to other coordinate system as well.
Thus, the Equation (8.5) may be rewritten in vector and tensor form as shown below.

L1V(pr)=0
ot

Vector and tensor analysis of cylindrical and spherical coordinate systems is not done here, and
can be looked up elsewhere. Thus, the final expressions in cylindrical and spherical coordinates

20



are given as below.

cylindrical coordinates (r, 0, z)

15) 10 1 0 %)
L= (prv,)+ == () + = (pv,) =0
ot ror r ol oz

Spherical coordinates (r, 6, @)

cp 1 0 1 o) . 1 5,
—+— PrV,)+——— , P
ot r°or rsin @ o6

16 Equation of continuity in terms of substantial derivative

The second term in Equation (8.6) may be broken into two parts as shown below. Partial
derivative present in the Equation (8.6) can be converted into substantial derivative using vector
and tensor identities.

Q£+3Yp+p?y=0

ot

In the above equation, the first two terms may be combined using the definition of substantial
derivative to obtain the following equation.

@+ oVy=10
Dt TR

In some cases, the fluid may be incompressible, i.e. density p is a constant with time as well as
space coordinates. For example, water may be assumed as an incompressible fluid under
isothermal conditions. In fact, all liquids may be assumed as incompressible fluids under
isothermal conditions. For this special case, the equation of continuity may be further simplified
as shown below

Vo =0 (pis constant)

The above equation for an incompressible fluid does not mean that the system is under steady
state conditions. The velocity of the fluid may still be a function of time. It only implies that if
the velocity of the fluid changes in a particular direction (x, y or z) then it should also change in
the other directions such that mass is conserved without changing its density. The equation of
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continuity provides additional information about the velocity profile and helps in solution of
equation of motion.

Solution of momentum transport problem by shell momentum balances

Here, we solve few simple problems of fluid mechanics with simple geometries by using the
shell momentum balance approach. This will lead to greater understanding of various terms
involved in the application of conservation of momentum in fluid given in Equation (9.1)

Flow through circular tube

Flow of fluids through a circular tube is a common problem, encountered frequently in different
fields of engineering. Consider an incompressible, Newtonian fluid, flowing through a horizontal
circular tube as shown in Fig. (10.1). Assume that the fluid flow is laminar and under steady state
conditions. Determine the velocity profile and average velocity of the fluid using shell
momentum balance approach.

solution procedure

Assumptions

Fluid density and viscosity are constants.
System is in steady state.

Laminar flow (simple shear flow).
Newton's law of viscosity is applicable.

Fully developed flow.

]

Vi(r)

WL

a~
k4

L
Fig Laminar flow in a horizontal pipe

Intuitively guess the velocity profile
Since the flow is steady and laminar, we may intuitively say that the velocities in r direction and

0 direction are zero. Due to steady state conditions, the fluid velocity in z direction, vz, is not
dependent on time t. Furthermore, due to the axisymmetric geometry fluid flow the velocity vz is

22



independent of 0. Thus,
o= 0, #5= 0,05 vir 2 8:8)

v,=v,(r, Z)

By applying the equation of continuity in cylindrical coordinates

f?*.*z 0
Hence,
v, =v(r)

Since the fluid is flowing in z direction, we may conclude the following.

Since vr=0, r directional momentum balance is not important.
Since v6=0, O directional momentum balance is again not important.

Since vzz0, z directional momentum balance is most important.

1.7 Equation for circular pipe:
The control volume should be decided very carefully. The geometry and size of the control
volume should be taken according to the geometry of the system and based on the conditions
given in the problem. In this case, the geometry of the pipe is cylindrical, hence we use the
cylindrical control volume. The fluid is flowing in the z direction but velocity is changing onlyin
r direction. Therefore, the control volume is taken in such a way that the variable thickness of the
control volume is in the r direction. As the flow is not dependent on z and 6 coordinates, we may
choose any dimension in z or 6 directions. This means that z may be any length. It may be L/4,
T T T s
L/2 or L. In a similar manner, any value of 0 may be taken. t maybe2 or or /2or /4.
However, in the r direction, we need to take the differential thickness dr. These arguments leads
us to a control volume as shown in Fig. (10.2). The length of the cylindrical shell is L which is
equal to length of pipe and thickness is dr.
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Fig 10.2 Control volume for flow through pipe
Momentum balance
As discussed earlier, the shear stress/forces may be written in two ways:
Taking shear stress as actual shear forces.
Taking shear stress as momentum flux.
Here, we show that both methods lead to the same final results for velocity profile.

Momentum balance using shear stress as shear force

Momentum flux entering the control volume by convection

( ,m' 2xrdr)

zZ=

Momentum flux leaving the control volume by convection

( ,m 27rdr)

Since the pipe is horizontal, the force due to gravity is zero. No other body forces are acting on
the control volume.

Surface forces
Pressure force: Fluid is flowing in z direction only. So pressure forces which are working
on the surface normal to z direction are

Pressure force at z=0 is
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R2mrdr|_, (10.5)
Pressure force at z=L is
- PL 2727‘d7‘z=[ (10.6)

Shear forces: The shear stress tensor in cylindrical coordinate is given below.

Among all 9 components the first column of stresses are important for r directional flow, the
second column of stresses are important for 0 directional flow, and the third column are
important for z directional flow. Since the fluid is flowing in the z direction, only the third
column needs to be considered. Since the Velocity gradient is present only in the r-direction, only

" needs to be considered, the remaining two terms are not significant. Now, we need to decide
the direction in which the shear forces are acting. Recall

I =9,1

~n" o~

~

Where the unit vector =" is the outer normal of a surface and if it is in positive direction then

L,

is also positive while if it is in negative direction then ]-;r is shown as negative direction.
T
Therefore, ™ (as a force) is positive at r+dr and negative at r as shown in Fig. 10.2.(Note: the

(.
firstindex, z, in " from right to left indicates the direction of force and second index, r,
indicates the surface on which it acts).

Accumulation term: Due to steady state system, the rate of accumulation of momentum equals to
zero .
General momentum balance is given below

4 N\ /7

o [ rate of momentum) [ rate of momentum)

[ rate of accummudation | _ ) ) ) ; _ :
) _ |=| entering CV |—| leaving CV [+ Zapplzed Jforces |

\ of momentumin CV. | | ) | | ) [ ~

i * | by convection / L by convection /,!

J

or in this case
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= (v, 27rdr)|,_, — (rv,’27rdr)|,_, + 0 + P, 27vdr

— P 27rdr + (7. 27¥L)|., . — (. 27¥L)|.

r+ar

Since the velocity is constant along the axial direction as shown in Equation (10.2), the first two
terms in Equation (10.8) are cancel out and we are left with following Equation.

0 = Zfr},’[(rrzr)L — (%”)L] + B2rrdr — F,2nrdr

+dr

Dividing by 27rdr wehave

]DO Zi PL + ( T?’Zr / | y+dr (Trzr ) Y
ki rdr

As dr—0, the Equation (10.10) may be rewritten as given below.

(0=

T
(Note that, "is a function of r only which means we get the total derivative instead of the
partial derivative.)

dr,r) _t(®-B)
dr L

Further integrating the Equation (10.11) once with respect to the variable r, we obtain

N

7"'; ®-P)

or

. r ®%-F) LG
& B L y

7,
Here, c1 is a constant of integration. Equation (10.12) shows that if r=0, the value of " will be
infinite, which is physically not possible. Therefore, c1 must be zero. Hence,
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T = _i—(PO — )
2 L

(.
Now, by applying Newton’s law of viscosity, and taking " as force, we obtain

dv, r ,-P,)
T, =+U ="
dr 2 L

Momentum balance using shear stress as momentum flux

Now, we will employ the second method where shear force are considered as momentum flux.
To indicate the direction of momentum flux, we draw the arrow in r direction and find where this
arrow enters the control volume and also leaves the control volume as shown in Fig (10.3). Thus,

T
the momentum flux enters the control volume through the surface 2  rL at r=r and leaves

T
through the surface 2  rL at r=r+dr.

Momentum flux
MNeaving

TMomentum flux
l . Comingin
2

Fig 10.3 Momentum flux applied on control volume

Thus,
Momentum fluxatr=ris

(z,,27rL)| (10.15)

Momentum flux atr =r +Ar is

(c.270L)| . (10.16)

r
(Note: when we consider ™ as the momentum flux, first index, z, indicates the direction of
momentum flux, while the second index, r, indicates the direction of flow of momentum flux
from higher to lower value. Subsequently, it will become clear that if we follow the coordinate
system’s directions and assume momentum is flowing in this direction, the sign convention for
momentum flux is automatically taken place.)
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In this case, momentum balance in Equation (9.2) may be modified as shown below

rate of momentum rate of momentum
=| entering CV —| leaving CV +( >

(rate of accummulation]
by convection by convection

of momentum in CV

rate of viscous rate of viscous
+| momentum —| momentum
entering CV leaving CV

Here, the shear stress are taken into account as momentum flux. The pressure and gravity are the
only applied forces.

Substituting various terms in above equation, we obtain

0 =0+ (F-F)2mdr+ (r,2mL) - (7,27L)
Dividing by 272'7‘d}‘, weobtain

B~ P
0 == (rrzr),_ (Trzr),._*_d._*- ( 2 L L)

Again as dr—0 Equation (10.17) leads to

Oz_d(rrzr)+(P0 = PL)
rdr 5 2

or
dr) _(B-P)
ar L

By integrating the Equation (10.18), we have
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(Po_ PL) .

=B R, a
2.L 2

As we discussed earlier, c1 should be zero. Therefore,
T (Po L PI.) r
= 2L

Now applying Newton’s law of viscosity where shear stress is taken as momentum flux, we
obtain

d\"‘z toemea) (PO = PI_ ) p
dr 2L

Equation (10.14) and (10.20) are identical and hence show that both methods finally lead to the
same result.

To obtain velocity profile we further integrating the Equation (10.21)

Here c2 is the second constant of integration which may be determined by using appropriate
boundary condition.

Boundary condition

By no-slip boundary condition
vz=0 at r=R

———(PO = PL)R2 +c,
4ul .

= (Po T P]_) R?.
4ul

2
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Substituting the value of c2 in Equation (10.22), we finally get

l_z ) (Po i PI_) (RE _"2)
4ul

Note: c1 can also be calculated by using the boundary condition in terms of velocity vz: i.e., vz is
finite at r=0

dv
V.| _ a
dr

r=0

or (since the velocity profile is symmetric about r=0).
Thus, the velocity profile for flow through pipe is given by the following expression

(P, = PL)R2 ) r

T %n

: 4ul R°
The maximum velocity of the fluid will be exhibited at the centre of the pipe and is given by
v S = (Po_ PL)RE-

Zmax zZ \r= 4'uL

Alternatively, the velocity profile may also be expressed in terms of the maximum velocity as

The average velocity of the fluid in the pipe is the average of all local velocities. Thus, this may
be calculated by estimating the volumetric flow rate through the pipe and then dividing it by the
cross sectional area of the pipe. The total volumetric flow in the system is

0=|do

where, dQ is the volumetric flow rate from small cylindrical strip of thickness dr.

= f v, 2mrdr

By substituting the value of v z from equation (10.27), we have
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4
:J.t‘_m 1 —— |27rd:

<

By integrating the equation (10.30) from r=0 to r=R, we obtain

R r3
= I272’vmm {r e }dr
. R
or
2 S R
2 }A" ’AJ
=ZTV. —_— ~
Zmax 2 4R‘ 0
Thus,
R2
Q = ﬂ"zm 5 B
2

and average velocity is

Q

YV —

z,avg
A C
. R 3
T 1"‘z .max 2
TR’
or
v - vz,max
zavg 2

The velocity profile for laminar flow in a circular tube is shown in Fig. 10.5.

P W
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Fig 10.5 Velocity profile in horizontal pipe

We can also find the radial distance at which the local velocity of fluid flow equals the average

A
Zmax
‘: == vz.ava = ;
velocity. For this, substitute 2 into Equation (10.26), we obtain
P o1
l-——=—
K 2
r 3
B2
or. v = i (10.34
2
Finally , the volumetric flow rate in terms of pressure drop is as follows
, 7(@®,- P (10.35)
0= 1.'7m.°72'R" = ._(O—L_zRi
o SuL
Q= ad S 987 (10.36)
128uL

Equation (10.36) is known as the Hagen — Poiseuille equation. Thus, if the pressure drop is
given, we can calculate the volumetric flow rate in the pipe and vice-versa. This equation can
also be used for the calculation of viscosity in capillary flow viscometer. However, it may be
noted that Hagen — Poiseuille equation is valid only for fully developed laminar flow. Therefore,
when this equation is used for various calculations there may be some errors due to developing
and exiting flow at both ends of the pipe. Hence, this equation has to be modified for real
situations.

Friction factor

The friction factor is a dimensionless number, which provides an idea about the magnitude of
shear stress produced by a solid boundary as fluid flows. This is defined as the ratio of shear

/ y2
e P zavg

2

stress at the wall and the kinetic energy head of the fluid, . Here, p is the density
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“avE is the average velocity of fluid. The friction factor is thereby defined as

- T\“
f ‘. ] 5
¥ zavg

2

where, Tw is the shear force per unit area on the wall of the tube. This may be calculated as
shown below
r=R )

W

r,— —(— Z,,
Here, first minus sign is used as the inside surface of the tube wall has outer normal in the
negative r direction and second minus sign is used because z-"'is treated here as momentum
flux. If z-"'is treated as actual shear force then positive sign would have to be taken. For fully

developed laminar flow, the velocity profile is parabolic and is given by

2

v,=V,, .| I—
i R

Evaluating the velocity gradient at the wall (r=R), we have

dvz e 2vz max
dr|,_ R
Thus, the shear stress considered as momentum flux is given by
av. 2uv,
AR
d‘ =R R
or
ol D U =B R BB,
w z

=2 R 4i. R 2L

The friction factor may now be calculated as shown below
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L 2L __8u
1,01'4 1 p(Fy— PL) g2 PRV,
FrrRE B Ay

or

I6py 16

i Y2 98 1 A Re

0q

Equation (11.7) shows that the friction factor in laminar flow region depends only on the
Reynolds number. Clearly, the friction factor is also a dimensionless number.

Friction factor in turbulent flow

Smooth pipe

/ Rough pipe
27

Fig 11.1 Smooth and rough surface of pipe

In turbulent flow, the friction factor also depends on the surface of the pipe. A rough pipe leads to
higher turbulence than a smoother pipe, so that the friction factor for smoother pipes is less than
that for rougher pipes. The ratio of surface roughness height (€) to pipe diameter (D) is used to
quantify the “roughness” of the pipe surface. In practice, the shear stress on the wall may be
calculated by measuring the pressure drop across the pipe for a given flow rate. Thus, friction
factor may be calculated as the function of Reynolds number and plotted on a log-log plot for a
given surface roughness. The curves are different for different surface roughness as shown in
figure. (11.2). The collection of these f-Re plots is called Moody Chart as shown in figure below,
and can be used for estimating the friction factor for given flow parameters.
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Ref: http://www.brighthub.com/engineering/civil/articles
Solution of some more fluid flow problems by shell momentum balance approach
In this section, we solve a few more fluid mechanics problems in simple geometries using the
shell momentum balance approach. The detail procedure, which was also used in previous
example, is outlined below.
1) Make a diagram of the flow geometry with the appropriate coordinate system
2) Specify all necessary assumptions
3) Intuitively assume the velocity profile
This is an important step for solving these problems. In laminar flow, the fluid flows in parallel
layer without mixing. Thus, it is easy to guess the non-zero components of velocities by
intuition.
4) Apply of the equation of continuity to modify the velocity profile

5) Determine the non-zero shear stress component(s)

Since the shear stress components depend on the velocity profile, the non-zero shear stress
components may now be determine.

6) Determine control volume and make shell momentum balance for the control volume

Draw control volume in system diagram according to system shape, size and problem statement.
The selection of proper control volume is very important to solve problem correctly. The control
volume should be select in such way that it can be easily integrated for whole system. The
differential length of control volume should be taken in direction of changing velocity.

Write momentum balance equation for the control volume. The shear stress may be considered as
shear force or as momentum flux, both provide the same results as shown in previous example .
Write down all surface and body force acting on the fluid carefully. Finally obtain a appropriate
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differential equation and integrate.
7) Boundary conditions

Use appropriate boundary conditions which help us to determine the constant of integration in
above step.

18 Falling film on an inclined flat surface

An inclined surface of length L and width W is situated at an angle B to the vertical direction as
shown in Fig. (11.3). A Newtonian fluid is freely falling on the surface as a film of thickness 6.
Assuming the flow to be laminar, determine the velocity profile, flow rate and shear force on the
surface by the fluid.

Solution

Fig 11.3 Laminar flow on an inclined surface

Assumptions
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Constant density, viscosity

Steady state

Laminar flow (simple shear flow)

Fully developed flow

Newton's law of viscosity is applicable
Assume velocity profile

The fluid is flowing in the z direction, hence only the z component of velocity is non-zero. Thus,
we may assume

an

We may further assume that vz does not depends upon y coordinate. Since the flow is steady, vz
does not depend on time. Thus,

£

v, =v,(x,z)

Using the equation of continuity in the cartesian coordinates for constant fluid density, we have

CVx ov Ov:z
- —- =0

Q
=
9)
([3)

o

Equation (11.11) indicates that vz does not depend on the z coordinate. Thus,

v =% k.X)
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There are nine components of the shear stress as shear force or momentum flux, namely

T Ty Te—> acting on x surface
Tx Ty G—> acting on y surface

Tx Ty Tr—> acting on z surface

T
Since vz is only the non-zero velocity, and also it is the function of x coordinate , “ isthe only

significant component of shear stress and we need to write momentum balance only in z
direction. Because the pressure is same at both ends of the inclined plane, there is no pressure
force on the fluid. Now, we can solve this problem by assuming shear stress as a shear force or
shear stress as momentum flux.

7
AL

Assuming as momentum flux
Draw a control volume of length L, width W and differential thickness dx.

Convective

y=0 =
Convective -
Momentum Y=W
Out

-t
- Sy
- L1
-
-
-

z=L

Fig 11.3 Control volume for falling film problem
Momentum balance in x direction

Rate of momentum flux entering CV due to viscous transport at
% = EW%y|

Rate of momentum flux leaving CV due to viscous transport at

x+At:LWz;E|

x+Ax
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Gravity force acting on fluid in z direction

=(LWAx)(pg cosf)

Rate of momentum flux entering in CV due to convective transport
=(pv.Wdx v, )L_=0

Rate of momentum flux leaving from CV due to convective transport

=(pv.Wdxcv,)|_,

Now, when above terms are substituted for z-momentum balance, we obtain

(prwd,)_ — (powdes,)|_ +LW(z,| 1| ) + (W) (pgcosf) = 0

Since the velocity vz does not depends on z coordinate, the first two terms cancel out and we
obtain

LW( zI:‘:"lx —TXZ |x+jx) + (LWAY)( Pg COSﬂ) =0
Dividing Equation (11.19) by volume of the control volume (LWAX), we have

(z.xz Lr _rzz L—dr)
Ax

+ (pgcosf)=0

As Ax—0 , The Equation (11.20)simplified to

dez
—_—= coS
= pgceos f

The Newton’s law of viscosity (here, shear stress is defined as momentum flux) is given by
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T,, = =l—
xz u T
%(—u%} = pgcos B
or
———=pgcos
TR
or
d’v: o | pgcos B
&’ i

By integrating the Equation (11.25), we have

ﬁ__(pgcoslﬂ

I1X+¢C
dx i
or
\,‘.z_(MJLHIH%
7. 2

The above equation requires two boundary conditions for determining c1 and c2.

Boundary conditions

1 At x=0 the liquid surface is in contact with air where the shear stresses at both gas liquid
phases should be equal. Thus,

T, (air) - =7 ., (liguid)

=0 x=0

Since both may be assumed Newtonian fluids, we have
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0. p d\-‘z(air,l
R oy

where pg is the density and pg is the viscosity of air. Thus

d\"z
dx

_ )ugpg d\"z(air)
=0 Mp  dx

x=0

Since, pug and pg is much smaller than p and p, and Equation (11.30) may be approximately
written as

d Vz
dx

x=0
Substituting above boundary condition in Equation (11.26), we obtain

.= 0
4

2. At x=0 no slip boundary condition may be applied, i.e.,

at

Thus, from Equation (11.27), we get

0=—[Mj£x+03

7 2
or
- pgcos )5’
2 1 5

Finally the velocity profile is obtained as
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. __(pgeosB\x  (pgcosp)s’
“ g )2 po)2

or

2 pg5: COSﬁ(]—(iJ:
] 2u o

\

. . T
Falling film "Assuming * as shear force"

Now, we again solve the same problem (falling film over an inclined plane) by treating shear
stress as a shear force. For this purpose, we take the same control volume as before.
For momentum balance in z direction, all terms are same as before except the terms for shear

Tz . . . . . .
forces. Here, - represents the force in z direction acting on the surfaces which have normal in
x direction. Shear force is positive if the outward normal is in positive direction and negative if
normal is in negative direction. Thus,

shear force at x=x is

~LWE |,

Shear force at x=x+Ax is
+L WZ-‘C |x+x£

The z momentum balance for this case is as follows

Lwy( zj,._,|‘_r_, —*_| J+(LWAx)( pg cosf) =0

Dividing Equation (12.3) by the volume of control volume WLAX, we have

( rlef_r -r:._,|\, ) +(pgcosf)=0
Ax i}

As Ax—0 Equation (12.4) leads to

dr
£ =— Ccos
= pgcosf
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Now, substituting the Newton’s law of viscosity for shear stress as a force

dv .
r.. =u—=

Xz dx

Therefore,

V.
H—a= —pgcos

Equations (11.24) and (12.7) are the same, which show that both approaches provide the same
answer.

Maximum velocity

It is clear from Equation (11.37) that the maximum velocity is given by

pgd’cos B
2U

Vv —

Z

Average velocity and volumetric flow rate of falling film

vz is the linear velocity in z direction. Hence, the volumetric flow rate can be determined by
integrating it over the cross section of flow (Wd).Thus ,

0 = }]v‘_dxdy
0 0

From Equation (11.37), we get

Wo 2 N2
o-Jjearent, (5] ]M
0 -

2u <
By integrating Equation (12.10), we find

0= Wpgd’ cos B
3u

To obtain the average velocity, we divide the volumetric flow rate by the cross sectional area.

43



or

.\ _pgdicosp
V. 3u

4

Equation (12.12) may also be written as

Force acting on solid surface due to the fluid

l

(Note: in Equation (12.14), first “+’ sign shows the direction of the normal of the inclined surface
and second ‘+’ sign is taken since shear stress is defined as shear force). Thus,

- (-:— T, |x=0. ) dvdz

O Sy :1‘

F=pgdLW cosf3

In this lecture, we have once again seen that the shear stress tensor may be assumed as a shear
force or as a momentum flux. In either case, we finally obtain the same expression for the
velocity profile. The only difference is that when we treat shear stress as a shear force, it is
included in the summation of all forces term in the momentum balance equation, while when we
treat shear stress as momentum flux, it is written as momentum entering and leaving by the
viscous transport. From now onwards, we will treat shear stress as momentum flux as it is more
consistent with what we see in heat transfer as Fourier’s law of heat conduction and in mass
transfer as Fick’s law of diffusion. Thus, in transport phenomena (Momentum transport, Heat
transport, and Mass transport) for the basic transport laws we have minus sign in front the
relevant gradient implying fluxes flow from higher values to lower values.

Falling film on the outside of a circular shell

In an experiment, a fluid flows upward through a small circular shell and then flows downward
out side the tube under laminar conditions as shown in Fig. 12.2. We need to set up a relevant
momentum balance and determine the velocity profile, mass flow rate and the force acting on
outer surface of the tube.
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Fig 12.2 Falling film outside the circular tube
Assumptions

Density and viscosity are constants.

=

Steady state.

=

Fully developed laminar flow.
Newton’s law of viscosity is applicable.
Non-zero velocities

Fluid is flowing in the z direction due to gravity. There is no driving force in the 6 direction and a
solid surface is present in the r direction. Therefore, we may intuitively assume that

v,=v,(r,z)
v, =0
v, =0

Now, using the equation of continuity in cylindrical coordinate system, we have

Gp 10 16 &
L = Crgw yi=ZLiepv )+ 2 pv )=0
T i

or
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p=(v,)=0
cZ

From Equation (12.18), we obtain that vz is independent to z. Therefore,

Choose a control volume in the film of differential thickness dr and length L (it is a cylindrical
shell).

(P Vz2TrAr v, )|,

r , deld

Trzlrtar

L 4

r+dr

Vil

(p‘ szﬂ‘l‘&l‘ Vg )Iz-l.

Fig 12.3 Control volume for falling film outside the circular tube

There are nine components of shear stress tensor. Since the fluid is flowing in z direction and it is
bz

a function of r only, we may argue as before is the only important component of the shear

stress tensor. The other components are insignificant for momentum balance in z direction. The

momentum balance in z-direction is given below.

Momentum balance for control volume
Convective momentum entering the control volume at z=0 is

(pv,2mrAm, )|, (12.20)

Convective momentum leaving the control volume at z=L is

(pv.2mrm, )| (12.21)

Shear stress as momentum flux entering the control volume at r=r is
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(2Lt )| (12.22)

Shear stress as momentum flux entering the control volume at r=r + Ar is

(2mrlz,) (12.23)

r=r+ir

{Note: If you consider shear stress as momentum flux, then it always flows in the positive
direction of axes}

Fluid is flowing only due to gravity and may be written as

(2xrArLpg ) (12.24)

Substituting above terms, we obtain

(pv,2mDv, ) _, (2w, ) _, H2miz, )|’=r —(2mir, )lmﬂv +2mLpg = 0

Since velocity, vz, is not dependent on the z, the first two terms in above equation are equal and
cancel out, leaving the following equation for momentum balance.

(2milr, )| _ —(2#rir )| _ . +27rArlpg = 0
Dividing Equation (12.26) by volume of control volume 2mArL | weobtain

—rr

7> rz

rAr

(re,

r+Ar )

=—PEg

As dr—0, Equation (12.27) reduces to

10 oy
r&' z/ pg

or

S04

After integration we obtain
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=—12 +
dr 2 ¥
and
v‘_:—’o‘g’ +c,Inr+c,
4u

Here, & and €2are the constants of integration.

Boundary conditions

1. r=aR we have the air water interface where we may assume that

dv .

dr

(The explanation is given earlier in Lecture 11.)
Substituting the above boundary condition in Equation (12.31), we obtain

B pga“R“
21

¢

2. At r =R, no slip boundary condition is applicable. Thus,

= 0

Using this boundary condition, we obtain
_ peR’
= i

L%

z

C,

£

—c,InR

or,

R 2 p?2
IR pPerR  pga R

© 4u 2U

Therefore, the velocity profile is given by

_PE +pgaR ]m‘+pgaR _PRLR InR

4u 2U 4u U

V. =

or
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Maximum velocity

Atr = aR, the velocity is maximum. Thus,

V, e = ’fo |:]—ar2 +2a‘°1na]

19 Flow through Annulus

A Newtonian fluid is flowing in a narrow slit (B<<W<<L), formed by two parallel plates as
shown in Fig. (13.1), due to the combined effect of both gravity and pressure. Determine the
velocity profile, average velocity, and mass flow rate for laminar and steady flow.

P,

X

B

H Vz(x)

Py

Fig 13.1 Laminar flow in narrow slit
Assumptions
Density and viscosity are constant.
Steady state.

Laminar Flow(simple shear flow).
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Newton's law of viscosity is applicable.

Fluid is flowing in the z direction due to both gravity and pressure difference. Therefore, vz is
the only important velocity component. As the slit is very narrow (B<<W<<L ), we may assume
that end effects are negligible in y direction and vz is not a function of y.

Thus, intuitively we assume the velocity profile as,

V.=V, (Xx,2)

v, =0

Now, using the equation of continuity in cartesian coordinate system

ap 0
+—(px )—l——(p\ JH+—( v, )=0
a & & &
or
ov
p—==0
oz
Therefore,
v, =1,(x)

: : Uz . .
From above velocity profile, we may conclude that “ s the only important shear stress
component. We now select a cuboidal control volume of dimensions L, W, Ax, as shown in Fig.
13.2 (Note: differential thickness is chosen in x direction)
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Fig 13.2 Control volume for laminar flow in narrow slit.
Momentum balance in z direction

Convective momentum entering the CV at z=0 is

Cov, WA, )., (13.5)
Convective momentum leaving the CV at z=L is
(v Whw, )| (13.6)

Momentum entering CV by viscous transport at X=X is
(LWt, )|x=x (13.7)
Momentum leaving the CV by viscous transport at x=x+Ax is

(Lwr_ )| ..~ (13.8)

Pressure force at z=0 is

R (13.9)
Pressure force at z=L is
—P,W Ax (13.10)
Gravity force on CV is
pEAXLW (13.11)

Substituting these terms into the momentum balance in z direction, we get
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(i, )|y — (pywie, )L +(LWT, )|, — (LT, )|, p
+Ewix—Bwic+pghd W = 0

Since, vz is not a function of z, the first two convective momentum terms represented by
Equations (13.5) and (13.6) are equal and hence cancel out from the above equation and we get

(DVr_)|_— (Dt )| +Pwis—Bwie+pghdV = 0
Dividing Equation (13.13) by the volume of the control volume AXxLW , we obtain

(T"le _TE|x+¢tx) - f;: _B)

Mx L

Combining the pressure force with gravity, and taking the limit as Ax—0, we have

d . ((B-pe(0) (B +pe(L)
g £
or
d - (P,—P
—(Tn) _ c0 cL
dx f
where, =F=.082
d P,—P
_( — c0 cL Y+c
d’(" ,\z) ( j 7
Substituting Newton’s law of viscosity, we have
dv_
T, =—u—=
Xz dx
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or

v, B 5
= o g
dx L

and finally after integration, we get

—u

-~

P.-P. \x¥ c
v=— L L I” Txic

’ L )2 p

Boundary conditions are

dv,

1. At x=0, the velocity profile must be symmetric. Therefore, dx x=0
or
Gy =0

4

. =
2. At x=B, no slip boundary condition is applicable. Thus ‘
or
_|Bo—F; |B
c, =

Thus, velocity profile may be written as

y = Jﬂo—f& o

=1 #B 2| \B

Equation (13.23) describes the velocity profile in the narrow slit.

Mass flow rate and average velocity
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Mass flow rate = Volumetric flow rate x Density

W

= pJ. ji v, dxdy
0 -B

By substituting the value of velocity from Equation (13.23), we have

TT (BB B (=) s
TEZ et

or

w(P,—P,)B
m:EP ( 0 )

Average velocity = Volumetric flow rate/ Area of cross section

2W (Py ~Py)B’
w ) UL
2BW
or
P — B
<1’7>=l( c0 cl)
/=3 oL

Annular flow with inner cylinder moving axially

In a wire coating machine, a wire of radius kR is moving into a cylindrical hollow die. The
radius of the die is R, and the wire is moving with a velocity v0 along the axis. The die is filled
with a Newtonian fluid, a coating material. The pressure at both ends of the die is same. Find the
velocity distribution in the narrow annular region. Obtain the viscous force acting on the wire of
length L . Also, find the mass flow rate through the annular region.
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Fig 13.3 Annular flow with the inner cylinder moving axially
Assumptions

density and viscosity are constant

steady state.

laminar (simple shear flow).

Newton's law of viscosity is applicable.

Velocity components
The fluid is moving due to the motion of the wire in z direction so vz is the only important

velocity component. There is no solid boundary in 0 direction, and the flow is steady, therefore
vz will not depend on 0 and t. Hence,

P = Pl g)

£

Now, applying the equation of continuity in cylindrical coordinates

dp 10 - c

__._+__ ( b +____.( ) +-——( .‘_ :0
& e gk g
or

av .

_-':0
3 dz
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Thus,
v, = V(1)

r
=2

This result indicates that is the only significant shear stress among the 9 components for

momentum balance in z direction. Now, consider a control volume of differential thickness dr

and length L at a distance r away from the center. We may write the momentum balance in z

direction.
‘i (3ﬁl-f -

(pv, 2rrArv,) - = —2 (pvy 2RrAIV,)| -y

=3 =
& i

Ml To ey

P Vg Py

Fig 13.4 Control volume for annular flow with the inner cylinder moving axially

Convective momentum entering at z=0 is
,(pVZQm‘A’Tz) lz=0

Convective momentum leaving at z=L is

(pv,27rbrv, )|,

Momentum entering control volume by viscous transport at r = r is

(2rrlg. ).

Momentum leaving control volume by viscous transport at at r =r +Ar is

(2nrlt,)| .
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Now, the momentum balance over the control volume is below
(pv.2mhw,) |, A pv.2mh,) | H2mlz )| +2mlz ).~ 0

Since velocity vz is not dependent on z coordinate therefore the convective terms represented by
equations (13.29) and (13.30) are equal and hence cancelled out. Leaving with the following
equation,

Crlz ). (2wl )).... =0

Dividing equation (13.34) by volume of the control volume, 2rrArL

("z—rz l'r _rrrz L—Ar) = 0
rAr

Taking the limit as dr—0, we have

1d

r dr

(rz, )=10

and after integration

_ 5

’A

58 : . : L
where ~{is an integration constant. Now, using Newton’s law of viscosity, we get

or

C

where *~zis another integration constant.
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Boundary conditions are

dr=kr. %% (13.40)

or

U
andatr=R, 'z =0 (13.42)
or
C, = S1inR

y7.

From Equation (13.41)

Vv, = ~ iR+ InR

7 7
or
V= C—/;Zn ]£
or
VoM

C, = .
L' In(1/k)
By substituting the value of c1 into Equation (13.39), the velocity profile may be obtained as

_ v,inr LY InR
In(1/k) In(1/k)

or
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v, In(r/R)

v, In(1/k)
Mass flow rate in the annular region

-
<

w=p f f v rdrd@
0 kR

or
. B
W= o) [rln(ijdr
n k = R
or
s [ VR
2 |In(1/k)

Drag force acting on the wire may be calculated as

F =27kRL+(—7,,)|_s

or

By substituting the value of velocity vz, we obtain

F=27Z’kRL,ui vOM
&\ CHTTE)

Finally, we obtain the expression for drag force as

r=kR
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_ 2mLuv,
3 In(1/k)

1.10 Flow of two immiscible fluids between two parallel plates

Two immiscible liquids are flowing in between two adjacent, parallel plates. Solve the problem
for velocity profile and mass flow rate.

A
W

Fig 14.1 Flow of two immiscible fluids between a pair of horizontal plates
Assumptions
Density and viscosity are constants.

Steady state.

=

Laminar (simple shear flow) fully developed.
Newton’s law of viscosity is applicable.
Since fluid is flowing in z direction only, therefore vz is the only non-zero velocity component.

We can assume that end effects are negligible in y direction and hence, vz is not a function of y.
thus,

v, =v,(x, 2) (1
v, = 0
. = g

Now using equation of continuity for Cartesian coordinate system
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& o 6, . &
—_—+— P )+— P ) +— y )=0
Py ax(ﬂ‘x) 6)-'('0"'") &(ﬂ‘z)
dv
z — 0
- dz

which implies that
vV, =V, (Y)

Tz . )
As before, we may concluded that “is only important shear stress component for momentum
balance in z direction. Choosing a differential strip of thickness dx and length L as a control
volume, we have

szlx*ﬂ.:{

B N O A

(PV,WAXV,)| =g 5
—
0 7% 7
sz|L=x

7w i 7 7 B 7 7t

Fig 14.2 Control volume for Flow of two immiscible fluid between a pair of horizontal plates
Momentum balance in control volume
Convective momentum entering CV at z=0 is

( pyv,wAxv, )|, (14.5)
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Convective momentum leaving CV at z=0 is

(pv . whwv, )| (14.6)

CEWET i) Lo
Momentum entering CV by viscous transport at X=X is -k (14.7)
Momentum leaving CV by viscous transport at x=x+AX is (LWT o )rens (14'8)
Pressure force at z=0 is
P,Axw (14.9)

Pressure force at z=L is
-P Axw (14.10)
The equation for momentum balance can be written as

(pv,wAxv, )| o — (pyvwAxv, )|, + (LW, )|, — (LW, ) | pny TEpWAX — Py

As before, convective terms cancel out and Equation (14.11) reduces to the following equation.

(LW, )|, ~(LWT, )|\ +BwAX—BwAx= 0

Dividing Equation (14.12) by volume of control volume AXLW, we obtain

Ax L

Now, as Ax —0 Equation (14.13) becomes

@y (B8
& = [ I J

After substituting Newton’s law of viscosity in Equation (14.14) and integrating it, we obtain

B-B X ¢
V:=— luL“ —+—x+62

This equation is valid for both regions. Therefore,
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Here, superscript (1) represents the phase-1 and superscript (2) represents the phase-2.
Boundary conditions

There are four boundary conditions needed to solve the problem and given below

2

1. x=0, v, = v,
2. x=-b.v =0

3. x=+b, v =0
av vy’
L0 T

This leads to the solution
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c, = (C;
621 _ 02:
.2 1
C]2= ])0 ]PL :bz[ 12# - T
2Ll ) \p+p)
z’_:(PD_PL} E_i 'u]—’u‘\[
= L )b 2\ p'+4’)
and
/ -/ e 2—
i B-F),; IZ#IDH #j—#z\.x ({\
(2L ) |\p'+4 ) \p'+4f )b \b)

/Po —B’.\ 2
b e i bl e

\ 24L ) | \H +u ) \p+pr )b

1.11 Derivation of equation of motion

In this section, we derive the equation of motion, which may be used for solving any fluid
mechanics problem. This equation is based on axiom 2, i.e., the momentum is conserved. We
consider a control volume having volume Ax,Ay,Az fixed in space.

According to the momentum conservation equation,

/- P
f !

Net rate of inflow of

Rate of accumulation of ‘

‘- momentum in control 1‘(}£H}HE?__,- momeniim r'_IJ‘_T convectioi

\, 5

i
4

\
".

Net rate of inflow of n

by viscous transpor

+ ( Pressure forces )+ ( For

64



Az

Ax

X

Fig 15.1 Cubical control volume fixed in space
Momentum balance in x direction

Rate of accumulation of x directed momentum in control volume

o PAXAVAZY )
ct

Net rate of inflow of x directed momentum into CV by convection from x-phases
[ ovdzAy v | (v dzAy v, ) oo s
Net rate of inflow of x-momentum into CV from y-phases

= [( PV, ANAZ N, ]y —[/ v, ANAz “'x]yw

Net rate of inflow of x-momentum into CV from z-phases
= [(‘ /‘)“zJ\_;l.l‘ h‘x ]z_ [( /.7\"2_1\'.;1_\' )Tx].z+Az
Net rate of inflow of momentum into CV due to viscous transport
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xx xp =z
¢ — \'vyx \-yy \-yz
\ Pz gy Lz

In all shear stress component, the second index shows the direction of momentum flux and first

index shows the direction in which the momentum is flowing. For example, " denotes the x
directed momentum flowing in y direction. Therefore, the x directed momentum fluxes are

T 15
Tax T px

and . Thus,

Net rate of inflow of x directed momentum by viscous transport from x phase are

= (1, Az4v) | — (T, Az0) |, .,

Net rate of inflow of x directed momentum by viscous transport from y phase are

= (2, dxdz)|, = (1,45 42|,

Net rate of inflow of x directed momentum by viscous transport from z phase are
=(1,4%4y) | — (t,4x4v) |,

Net pressure force in x direction =
(PAyAz)| —(PAvAz)|, . (15.9)

Gravity force in x direction =

( pAdxAyAz) g, (15.10)

Adding all the above terms and dividing by the volume of control volume Ax,Ay,Az and finally
taking the limits,
Ax—0, Ay—0,and Az—0, we obtain
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)

aAp,) | dpy,) Apy,) Ay )| |0, 0T, Ot

:’I'z
o & Y & & o &

The above equation is the x component of equation of motion in cartesian coordinate system.

Similarly, for y-direction

N W omvvy ) Of v 2 e, R . AT AT AT 3
{:f‘{:‘iy.’:_ cr,.chx*ty_+cr;mf1yf+m;:".z1f_ - ﬂ.,l},ij,.,}? 0T, | &
ct cx v e dx o o | A

and for z-direction
= P N7 mras ANy ) A e - S AT Ny :
aAp,) _ |y, J+ of PV, Y, 2 opvy,) | | o, +-‘-’ = 00z | ¢
ct cx cv oz gde: oy O | ©

The above three equation may be combined in vector tensor form as

of o,

=
ot
In above form, the equation of motion may be used in any coordinate system.

Equation (15.14) may be written in substantial derivative form as shown below

if 4 and = are the two vectors. We may use the following vector identity.

Vixz)=xVz+z(VX)

R % (SN
Now, replace ~ by® ~and = by =~ *thenwe have

Vi(x)=V.{pw)=pwW+v(V.ov)
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PV o 5 0000 (15.
ot ot - o

After substituting Equations (15.17) and (15.18) in Equation (15.14), the equation of motion
reduces to

fale] v
?§+ PPV v(Vpr)=-Vi-Vp+pg

Rearranging the terms on the left hand side, we have

v dp
f{E;+B?{Fﬂ{E$+?JW}Z—?E—?p+FE

But from the equation of continuity

(7/,)

ot

+ Y.pl‘: 0

Hence.

&Y
ol =+v\ |=—N1-\p+ pg
gL == = =

or

Dy - |
p—==-V.r-Yp+pg
Dt =
Equations (15.20) and (15.21) are the generalized form of equation of motion without any
assumption and may be applied to any coordinate system. The detailed form of this equation in
cartesian, cylindrical and spherical coordinate system is given in Appendix-3.
Navier Stokes Equation for incompressible Newtonian fluid

The equation of motion may be further simplified by substituting the Newton’s law of viscosity

for the momentum flux term appearing in the equation of motion.
For a one-dimensional system where
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VY T0,VZT0 ettt h e b e e Rt ekt e R et e b e e eR et e bt e e Re e e bt e nnbeennneebeenreeas
(16.1)

we have seen that the Newton's law of viscosity may be written as,

"
ov,
T e = —H —

cy

where, s represents x directed momentum flowing in the y direction However, in general, for
a three dimensional flow, all 9 components of shear stress may be important. Thus,

T ..
Here, Uxx : Tywvand 2z are the normal stresses and the remaining are shear stress.

Axiom 3: Moment of momentum is conserved

This axiom 3 leads to a very simple conclusion that the shear stress tensor is symmetric in nature.

The derivative itself is lengthy and is not reproduced here. Lis symmetric implies that

Eyy = Fs
r.\'Z == Z-Z.\'
Ty = Ty

Newton’s law of viscosity may now be generalized as given below. Again, the basis for this
representation is not shown here, but it may be found in any standard books in fluid mechanics.

~ 14 + 2 u(V)8,88,

i j
I ~l o~ j

z

where,
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z'n:—2,uo"‘+£,uV1
4 Jo =
ov., 2

T, . =—2U——+—puV2)
oy 2=

r‘__:—2,um"+3,uV1
oz 3 ~°

The detail form of Newtons law of viscosity in all coordinate system is given in Appendix- 01.
Now, consider the situation when an incompressible fluid is flowing only in x direction and

depends on y coordinate only. In such a case, we have Y Z"x(}”), Y =0 and 'z =0. We can
easily see that for this case,

XX ! z
T,=T,= 0
B R

70



o Ty D | DO .
and only significant components of stress are and < . Also, theexpression for " is
the same as given earlier as Newton’s law of viscosity. For rectangular coordinate system,

_ V. : : :
substituting the value of =~ ~ in the x component of equation of motion, weobtain

-

8%, 0T, Bt
i YE == ‘\xx 4 4 ‘\zx
cX cy (oy4

Assuming that p and p are constant, we obtain

o o) o o o)) of (ov, &
NI=——| 24— +—| 3l —=+—= | |+—=]| = =+
R 7 &) O o & (04 &
or
dév, dov 00y odv, ddv, 0o
= U —A——F——F— = ——E+—
Cxéx vy Oy ox Oxéx Czox oxax
or

But from equation of continuity for an incompressible fluid, we have

cv ov, bv,
I+ﬂ}+ ‘:0
Cx cy 0z

Therefore,
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o) o
= /1 -~ 2 T -
cX cy

or
~(Vz), = uV,
or ]
~(V2), =£Y%,
similarly

—(V.z), =4V,

~ o~

Therefore, in vector and tensor form
-(Y.z)=uV’y

Thus, the equation of motion reduce

e

Equation (16.25) is known as the Navier Stokes equation and is used for solving problems
involving Newtonian fluids of constant density and viscosity. For non-Newtonian and

form of equation of motion given earlier must be used. The
detailed forms of the equations of motion along with Navier Stokes equations in cartesian,
cylindrical and spherical coordinates are given in the Appendix-03.

Solution of momentum transport problems using Navier Stokes equation

compressible fluids, the generalized

In this section, transport problems involving Newtonian fluids are solved by making use of the
equation of motion or Navier Stokes equation. We will firstly solve the falling film problem and
paring the solutions obtained earlier by using the shell

flow through a circular tube for com

to
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momentum balance method. We will then proceed to solve some more fluid mechanics problems.

1.12 Falling film on an inclined surface

Fig 17.1 Falling film on inclined surface

This problem was solved earlier by the shell momentum balance technique. We will now try to
solve this problem by using the Navier Stokes equations.

We are again required to make the same necessary assumptions as done earlier using the shell
momentum balance technique. We postulate the non- zero components of the velocity and from
there, determine the non-zero components of the shear stress tensor. These steps are the same as
_ v.= v (r) % _

earlier and lead us to conclude that  ~ =+ 7 and is the only important component of
shear stress. We now use the Navier Stokes equation in cartesian coordinates as given in
Appendix-03.

X component is P~ O (17'1)

y component is

Z component is

1 d’v. + =0
! de pg:
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where

g. = gceosp

Integrating Equation (17.3), we have

S : X+C;
® —(geos pee

and
v.=—(gcosf)x+c,x+c,

The boundary conditions are also the same as used earlier,

at
de

x=0., = 0
dx x=0

and

at

x=0v.=0

This leads to the solution for velocity profile, as

s 80 cosp|, (x
2u o

/

which is same as obtain earlier using shell momentum balance approach.
Fluid flow through a vertical tube

A Newtonian fluid is flowing inside a vertical tube having circular cross section due to pressure
difference and gravity. Solve the problem using the Navier Stokes equations.
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N R A 2 R

Nz(r)
P

Fig 17.2 Flow through a vertical circular tube

A similar type of problem (for a horizontal pipe) was solved earlier using the shell momentum

balance technique. Therefore, the initial steps are the same and include making appropriate

assumptions and postulating the non- zero velocity components. As shown earlier, it leads to the
v.=v(r)

conclusionthat =~ Y

Now using the Navier Stokes equation for cylindrical co-ordinates, after eliminating all zero

terms, we have r- component of Navier Stokes equation

oP

cr

=0

G-component

oP
Z el
oo
Z - component
&P 10 ov
= +,u—5 r—= +pg, =0
s

(074 3

We can combine gravity and pressure forces as to rewrite Equation (17.11) as,
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where, Pc is the effective pressure including the gravity, and is defined as,

P=P—-pgz

Note that since pressure changes in only z direction and vz is a function of r only the partial
derivative may be converted to total derivative. Furthermore, in Equation (17.12), the first term
is only a function of z and the second term is only a function of r, i.e.,

Efz) +E(r) =0

This leads to result that F1 and F2 both are constants as Equation (17.13) is true for all values of
zandr.

Flz) =¢, Er) = -¢
Therefore,
dP,
— 61
dz

By integrating the Equation (17.15)

. =ezre

c

Boundary conditions are

at
z=0,P =P,
and
at
Z=L;PC :‘pcl,

This leads to the following solution
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By substituting in Equation (17.12)

oA BO_BL +‘u£d(r£]=0
17 rdr\ dr

or

4ul

/

P _P 2
v, =—£M ¥ +c;Inr+c,

Boundary conditions are
atr=0, Y :isfinite
and

atr=R,
v,=0

This leads to

v, Ll g 1{£J
AW R

which is again similar to what we have seen for a horizontal tube except for pressure difference
term. In fact, it can be shown that the velocity profile given in Equation (17.22) is valid for any
configuration, horizontal, vertical, or inclined, with effective pressure is defined as

E=P-pgz
2T R Fé “ R
. L)
B= jjf—faﬁ b, rdrdg=2x s Ur‘gfﬁ*
00 L W

Radial flow between two parallel discs

77



A part of a lubrication system consists of two circular discs and the lubricant flows in the radial
direction. The flow takes place because of modified pressure (pi1- p2) between the inner and outer
radii r1 and r2 respectively. Formulate the problem for velocity profile and mass flow rate
through the system.

Fig 19.1 Radial flow in space between two parallel circular discs

Assumptions

Density and viscosity are constant
Steady state.
Laminar flow (simple shear flow).

Newton's law of viscosity is applicable.

Velocity profile

The fluid is flowing in the r direction. Hence, the only non-zero component of velocity is vr and
it depends on the both r and z. It will not depend on the 8 coordinate due to cylindrical
symmetry. i.e.,

v, = v,(7, 3) (19.1)

Applying the equation of continuity in cylindrical coordinates

cp 120 D . :
+——(pr, )+——(pv,)+—(pv,)=0 19.2
@f ; 2 (f r ) (/’ & ) @: (f 2 ( )
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or

1l 0 |, .
——(prv, )=0
y Or

or
3y G

'L——(n'r Ji=1)

r or’

Thus, X is a constant and which may be a function of the z,
rv.=F|z)

Using the r-component of the Navier—Stokes equation in cylindrical co-ordinate systems, we
have

By substituting Equation (19.5), we get

& P v
o, = = T
or or &

Equation (19.7) is a second order partial differential equation and may not solve analytically.
However, we may obtain an analytical solution for the limiting case when the flow is very slow
(also called a creeping flow). In such a scenario, we may neglect the convective term (on the left
hand side) in Equation (19.7) and thus, we have

Multiplying r on both sides, we have
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(19.3)

(19.4)

(19.5)

(19.6)

(19.7)

(19.8)



cP oV,

or

(19.9)

In Equation (19.9), the left hand side is a function of r only, while the right hand side is a
function of z only. Since this equation is valid for all possible values of r and z, both the terms

should be equal to each other, and in turn equal to a constant,
Therefore,

’ dP
) = ¢,
dr

or

d’r

{ "
In ‘ —2.
\ I'j y,

Substituting Equation (19.13) into Equation (19.11), we find
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(19.10)

(19.11)

(19.12)

(19.13)



ﬂ(-ﬂF ___B-p

dz? ; /”"’ ) (19.14)
\ 7'1 )
or
Bl i Do
=————7=Z +CiZF+C
£ V2 HERt (19.15)

>
-

2/1/)1‘ L
L7

Boundary conditions
No-slip is valid at both the plates. Thus,
at

5= thy =0 (:

Y

By substituting these boundary conditions in Equation (19.15), we have

¢, = —Pj —5 b’
& (19.17)
I .
2u /n‘ =
W

At z=0, the velocity profile is symmetric. Therefore, this is the second required boundary
condition for the problem

oF

—| =0 (19.

oz z=0

This leads to the solution
;=10

and
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P-P =
F = 1/2 1)2]—‘-1—’ (
[ 7 \D ) 19
.?/1/11’ - ‘
W
or
\‘2
=2 g (2]
r ! hY 19
’2 \ l) J ( .
2/1/11‘ -
\ ’:f /
Finally, we obtain the velocity profile
\2
P —P [ £
1, = ] '/2 3 1)2 ]—‘ l_
N 0 19
31‘/1/}1' = (
%
The mass flow rate of at any r in the system must be the same (in fact that was the reason, why
n . . . '=5n .
we got 7 constant for a given in the first place). Select the surface at to obtain mass
flow rate
2r+h
w= j Ipv;, |, 1Edl
0 b
or
S 2
. A BB )b p
W= y ™
, " % 19.2
31 /n‘ 2 ’ (
\ I )

Parallel — disc viscometer

A fluid is placed in a gap (of thickness B) between two parallel discs of radius R. The lower disc
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®)
is kept stationary while the upper disc is made to rotate at a constant angular velocity ~~
Formulate the problem for determining the viscosity at low shear rates.

Q

ST

W

B%

k4 L
Fail

r

Fig 19.2 Front view of two-plate viscometer

Assumptions

=

Density and viscosity are constant.
Steady state.
Laminar flow (simple shear flow).

Newton's law of viscosity is applicable.

Velocity profile

The fluid is sheared in the @ direction; hence, vy is the non-zero component of velocity. Applying
the equation of continuity in cylindrical coordinate, we obtain

19, o, ) =0 (19
——( o, )= :
st

Thus, ve, does not depend on the @ coordinate, or
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v,= 1,1, 2

For simplifying the problem further, we may assume that for low shear rates

.= wfiliz)

Using the & component of the Navier — Stokes equation for cylindrical co-ordinate systems

/ N\ 2
o(1 o P 8
) [t = =D
or\r or J G

By substituting Equation (19.25), we get

OTLE s i), FOL(Z)
— Z— e fE)) [ ———— =0
a‘l\ra-( A }'_J &

or

0°f(z)

0z’

= 0

After integration, we finally obtain
fl=z) ses%e;

where “Zand ©2 are the integral constant.

Boundary conditions are

at Z:O, Vﬁ:oor f(Z)'—‘O

thus,

¢,=0

<
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andat < — B’ Yo="¥

or
flz) =v/r =Q
This boundary condition leads to the solution
Q)
B
and
x
flzl =—

Finally, we obtain the velocity profile

Now, the z-component of the torque exerted on the fluid by the upper rotating disc, may be

calculated as

28 R

T = IJ‘(—ZTZ& Vir|_g rcrdé
00

or

Finally, we obtain the value of torque.

{2

I, = mu—

-

RZ

Thus, by plotting the angular velocity ~

vs torque T, the viscosity may be
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Non-Newtonian fluids

Non-Newtonian fluids are the fluids which do not obey Newton’s law of viscosity. For
describing Non-Newtonian fluids, let’s recall the Newton's law of viscosity experiment. There
are two long parallel plate situated at distance h to each other. Top plate is stationary and bottom

plate is moving with velocity Y as shown in Fig.(20.1).

v

Fluid fow h
> WV
X —_—
-

Fig 20.1 Non-Newtonian flow between two parallel plates

s
If a force, F, is applied to move plate, then ( *)

_F
Tx;.‘ 3 g
and under steady state conditions when h is small and when
dys X
dy h

7.
Now, we calculate 5 by repeating experiments for different applied forces and velocity

achieved by the bottom plate and plotting a graph as shown in Fig. (20.2). Depending on the
nature of fluid, different types of curves may be obtained.
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(b.
Fig 20.2 Shear stress vs. shear strain diagram for Newtonian and non-Newtonian fluids
1.13 Rheological behaviour of fluids

If fluid shows the behaviour like curve (1) then it is a Newtonian fluid. Other fluids are non-
Newtonian fluids. Curve (2) represents a Pseudo-plastic fluid, curve (3) represents a Dilatant
fluid, and curve (4) represents a Bingham plastic fluid. There are several Theoretical and
empirical models available to describe the rheological behaviour of non-Newtonian fluids. Here,
we discuss some of them, which come under the group of generalized Newtonian models. Basic
equation for a generalized non-Newtonian fluid is given below

dv,
dy

o

T = =11

Here, U is the apparent viscosity, which is clearly a function of shear rate as may be seen from
Fig. (20.2). Therefore,

i dv, .
n = fL d J (20.3)
v,
If the apparent viscosity increases with increase in shear rate, dy , then the fluid is called
dvx
dv

Dilatant fluid and if it decreases with increase in shear rate, % then fluid is called Pseudo-
plastic fluid. Some fluids require a critical shear stress to initiate the flow. These fluids are called
Bingham fluids. Some important rheological models for non-Newtonian fluids are given below.
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1 Power Law or Ostwald De Waele model

Power law or Ostwald De Waele model is the most generalized model for non-Newtonian fluids.
The expression of this model is given in Equation (20.3)

d\‘xl - dv
w =—m
n

Here, apparent viscosity / is defined as,

dv,
This is a two-parameter model where m and n are the two parameters.

Ifn=1Ithen 7 =m
where m is similar to the viscosity of the fluid and model shows the Newtonian behaviour .

n—1

n=m

If n>1, then increases with increasing shear rate and the model shows the Dilatantbehaviour.

If n<1, then 7 decreases with increasing shear rate and the model shows the Pseudo-plastic
behaviour.

Modulus sign

In power law model, modulus sign can be removed according to the value of shear rate.

oy

X

10f

" is positive, then

n=m )"
dJ.

&

X

2.1f A

¥ is negative, then
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n—1

n=m| — i
d

o

Several fluids do not show single type of rheological behaviour. They show Newtonian
behaviour for a range of shear stress and Non-Newtonian behaviour for some other ranges of
shear stresses. Several models have been suggested for these types of fluids. Some popular
models like Eyring model, Ellis model, Reiner Philipp off model and Bingham Fluid model are
discussed here.

2. Eyring model

Eyring model is a two-parameter model. The equation of Eyring model is as follow

B dy

<

_ (ru\ 1 dv,
sinh ;J:——

where A, B are the two parameters.

In Eyring model, if  “x» = 0 which means very low shear forces, we have

r‘x z-_‘.x

sinh{ —= =k
A A

Therefore, as  ** — 0, the model shows Newtonian behaviour

A d\-‘x
z-rx j —
Bk B d).

(4)
Here, viscosity = \B)

If " is very large, the model shows Non-Newtonian behaviour as shown Fig. 20.3
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Fig 20.3 Shear stress vs. shear strain diagram for Eyring model

Therefore, Eyring model may be used for a fluid which shows Newtonian behaviour at low shear
rates and non- Newtonian behaviour at high shear rates.

3. Ellis model

Ellis model is a three-parameter model. The equation of this model is as follows

A i (¢ - a—fir
d_}’ l o " J b2 4
Here, %, i and & are the three parameters .

Here, we consider some special cases,

11f 9= 0 then Equation (20.11) reduceto

dvs G
d‘} 0% ¥vx
or
1 d1-"x
Cox =~
= dy

[+

which is same as Newton’s law of viscosity with as the viscosity of the fluid.
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2. If Py = O,then

I
d' 1

o

Tg:c fa_l‘ T_T.I

which is similar to a Power law model

3.0fF & >1and  ** is small then the second term is approximately zero and equation reduces to

¥ dl’x

T
@, dy

o

which is similar to Newton’s law of viscosity.

4.1F & <1and s very large, then again, second term is negligible and we have

1 dv,

r., =—-—

T g, dy

o

Which again shows Newtonian behaviour. Therefore, Ellis model may be used for fluids which
show Newtonian behaviour at very low and very high shear stresses, but non-Newtonian
behaviour at intermediate value of shear stresses.
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Fig 20.4 Shear stress vs. shear strain diagram for Ellis model
This type of behaviour may be shown by some polymer melts
4. Reiner Philipp off model

This is also a three-parameter model. The equation of Reiner Philipp off model is as follows,

v, 1 .
d}" ﬂr 35 /uo - /l ®x =

( : J
] -
s —

where, Ho , Hee and s are the three parameters.

In Reiner Philipp off model, if s very large, the equation reduces to,

or
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Z-J'x e —/ux dT’

which is same as the Newton’s law of viscosity,

-

If ?" is very small then equation reduces to

d\»'x 1
= e T?.I

a  u,

or
dvx
T =—U

L / 0

X dy

which is also same as the Newton’s law of viscosity. Therefore, Reiner Philipp off model may be
used for a fluid which shows Newtonian behaviour at very low and very high shear stresses but

non-Newtonian behaviour for intermediate values of shear stress. Here, U fand ’uxrepresent
the viscosity of fluid at very low and very high shear stress conditions respectively.

5. Bingham Fluid model

Bingham fluid is special type of fluid which require a critical shear stress to start the flow.
The equation of Bingham fluid model are given below

2-0 d“.l'
T =—| U+
A d}'
d}'
- if
| (7 b, (20.19)
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L 8
d.‘

o

T|=T%

if X or

n=0 (20.2

A typical shear stress vs. shear rate diagram for a Binghum model is shown below

TO
T yx

dv
To dy

Fig 20.5 Shear stress vs. shear strain diagram for Bingham model
Momentum transport problems involving Power law and Bingham fluids:

In this section, we will solve fluid mechanics problem for Power law and Bingham plastic fluids.
These problems have been earlier solved for Newtonian fluids. We have chosen the same
problems here for better understanding.

Falling film on inclined plane
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Fig 21.1 Falling film problem for non-Newtonian fluid

Initial steps, such as making appropriate assumptions, finding important velocity components,

applying equation of continuity, and determining important shear stress components aresimilar
v, =v,(x)

as steps seen for Newtonian fluid in lecture 11 and 17. As before  ~ ~ " “andisthe only

. Tic: .
non-zero velocity component and * is the only important shear stress component.

. T : . .
(Note: Since the forms of shear stress ~ for Newtonian and non-Newtonian fluids are same, the
only difference is the viscosity p for Newtonian fluids and apparent viscosity n for non-
Newtonian fluids and furthermore as non-zero components of velocities are also same, the same

r
components of shear stress = are significant for both Newtonian and non- Newtonian fluids.)

r
To solve the problem, we start with the generalized equation of motion in terms of = . Since
the fluid is moving in z direction, discarding all terms which are zero, z-component of the
equation of motion reduces to
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g.= g cosp

therefore,

sz :ngQS' ,BX‘*‘C]

For Power law fluids

it dv,
o dx
n—1
=m|l—=
< dx

Since vz is decreasing with increasing value of x , the negative sign should be used for removing
the modulus sign, i.e. ,

d\“‘_ w1 d\z
T, =—M| — —=

dx dx

av_
r,=m| ——=

dx

By substituting Equation (21.7) in Equation. (21.1), we obtain

or
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n

dv,\ _pgeosf
dx m

xX+¢,

. . x =0, sz|az'r zrflﬂwd
By applying the boundary condition, at
which simplifies to

dv.
dx

x=0

as disused in lecture 11

¢.=0

By substituting this boundary condition in Equation (21.8), we get 1 . Therefore,

@, Y _pgeosp
dx m

or

1
v, =— peosf ¥ +c
z o= ] 2
—+1
1

Gs=. .
Here, 2 is another integral constant.

=0

Now, using the second boundary condition, at X=6 ., , we finally obtain

n+l

nd e
- n n’pgcosﬂé,? [x
n+l1 m o

Tube flow problem for Power law fluid
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Fig 21.1 Flow through pipe for non-Newtonian fluid

As we discussed in lecture 10, the only non-zero component of velocity is vz, which depends on
T

r only. The important component of shear stress is

By applying general equation of motion in cylindrical co-ordinate, we get

a ~
6B T
— =) =0
cz ror
Equation (21.11) may be further simplified as before
BB 10 5. 4
2 (r,)=0
b § ror

or

T W i
i 2L r

By applying the boundary condition, at r=0, velocity is finite, we obtain

;=1

4

and for power law fluids

T, =m| ——
. dr

(Note: Since vz is decreasing with increasing value of r, the negative sign should be used for
removing the modulus sign.)
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By substituting Equation (21.13) to Equation (21.12), we get

m[ a‘“’) _(h=h) r
a 2L

Integrating above equation, we obtain

n+d

( B-P)rn
v, eyl +c,
2Lm n+l
mn
r=Rv,=0
Now, by applying the no-slip boundary condition at, , We obtain
n+l
- )
i 2Lm n+l
n
Thus,
ﬂ -l
o JBRIR" | (r)r
2Im n+l| \R

Iy

Equation (21.15) represents the velocity profile of freely falling film on an inclined surface for a
Power law non-Newtonian fluid. If we substitute the n=1 and m=p in this expression, we get
Equation (10.25) which was derived earlier for a Newtonian fluid.

Tube Flow Problem for a Bingham Fluid
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Fig 22.1 Flow through pipe for Bingham fluid

r
As mentioned in the previous lecture, the forms of shear stress ~ for Newtonian and non-
Newtonian fluids are the same. Therefore, Equation (21.12) is applicable for a Bingham fluids
also, i.e.,

r :(Po_PL)r
= 2L

Equations (20.19) and (20.20) may be written for this system

(SRR AT Sl 2 v
1 Fo& o 0 (’ <t ), where 0is to be determine latter,
v,
pp— 0
dr or

V. =1, (constant)

2 For T ZTg(7 219

0 7 Al

]7 — /uo - L
dv.

dr

dv,

In Equation (22.2), dr is negative. Therefore, after removing the modulus sign, we obtain
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77 = lu0 - d\,'
( dr j
Thus,
T, =—q MU — Lo > &,
rz = lu az‘.z df‘
dar |
or
@,
Z',z =—H + To

2l

Condition for movement of fluid

As we start to pressurize the fluid by imposing pressure difference , fluid does not move initially.
As we continue to increase the pressure difference the fluid may start to move at some critical

pressure difference ( By~ }31). This critical value may be determined by setting

= (Pco — PCL)
2L
Thus, the fluid will flow if

Ty R

< -(PCO —PCL)R

Yo 5T

Suppose the pressure difference across the tube exceeds this critical value of pressure (

B~ Pfl) then the fluid will start to flow. Now, under this condition we may calculate the

rz: TO

value of (r0) where the value of . For r<rQ, the velocity gradient is zero andthe
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fluid flows with a constant velocity. The detail calculation for two different regions r<r0 and r>r0
are given below.

or

B 2T,k
(Fy—Fy)

2]

o

For r<r0, we equate Equations (21.12) and (22.4), that is
@&, __ _(B-h)
+o,=r, =——
a 2L

—1 r

Finally, we obtain,

” J,{M;Jm

17 4ul

/ /

0

No slip Boundary condition at r=R , ¥z = may be used to calculate c1 as shown below

Substituting this value in Equation (22.11), we get

N (%‘J%)Rz_jﬁR
4L H

Finally, the velocity profile is given by

C;
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S0 B2e) 2]
\ R

- <r<
Equation (22.12) gives the velocity profile is region mErER "as shown in Fig. 22.2. Equation

(22.9) shows that as we keep increasing the pressure difference (B—R)
on decreasing and the velocity profile changes as shown in Fig. 22.2.

, the value of r0 keep

Toi T
The value of r0 also depends on % and reduces with it. If we substitute in Equation
(22.12), we obtain the same expression for velocity profile as we had earlier obtain for

Newtonian fluids. This result implies that if the value of pressure difference (B—#) is
significantly high then the Bingham fluid may show behaviour similar to Newtonian fluids.

::-":F
<
S
;n.ﬂ rwn\

1
b A
L]
i
[
]
)
i
]
i
[
]
]
[
]
]
i
]
]
[
i
]
i

Ap< Apgin » APl >Apyw, Ap2>Ap 1> Apyy

Fig 22.2 Effect of differential pressure flow through pipe for Bingham fluid
Now, we may determine the velocity profile in the plug flow region (r>r0) by substituting r=r0
in Equation (22.12)

z (B-B) Y, (1)
»=-2(r—R R|-2
s e GH

Falling film problem for Bingham fluid
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Fig 22.3 Flow on inclined surface for Bingham fluid

As we discussed earlier, the expression of shear stress is same, as we had derived for Newtonian
fluids and Power law fluids in lecture 11 and lecture 21. Therefore, from Equation (21.3)

T, = pgrcos B
For this system, Bingham fluid model may be written as,

Lror T<T0 x <9,
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Ty

= ;%
7} /uO dl'z
dx
o 0, _ 526,
As the critical thickness of film is unknown, (the fluid flows only when ) we may

calculated from Equation (22.17), i.e.,

b= z-Oat X= 50 or,

Ty =pPgS,cos i

or
T
2o 0
8= ¢
pgcosp
ST <
From region (1) where 7 and Kt 50 , we have
av.,
e s 0
d-’C or
vV, =V,

: o =9,
For region (2) where r27 and O we have

o
n=sU4=x
dv,
dx
dv,
Here dx is negative. Therefore, after removing the modulus sign and substituting the value

of 1 in Generalized Newton’s law of viscosity. we obtain,
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s

T =—\H—=—T (= pgcas fx

or

dc;c = pgcos Px—r,

—H
or

&, _—pgeospx 7
dk K 7

Finally, we obtain the velocity profile, as given below

—pgcos Bx° T
Ho 2 U
where c2 is an integral constant. By using no slip boundary condition at *= o Yz :0, we
obtain
pgcosfo° T, 5
. 7
Therefore,
cos 35" | s X
v, _pgespo |, Iyl 8
: 2u S| u|l 8
: . . . 0 <x=59. .
Equation (22.22) shows the velocity profile in region . From Equation(22.22), we

X =
may also calculate the velocity of plug flow region by substituting the value 7 Thus,
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21 Introduction to Heat Transfer



In heat transfer, we deal with transfer of thermal energy or heat which takes place between
different bodies/fluids. Here, we start with Axiom-4 of transport phenomena.

This axiom is similar to the first law of thermodynamics. It states that "energy is conserved”
which means energy can not be created or destroyed. Energy may be transferred from one form
to another or one place to another. Transfer of energy in a system depends how it interacts with
the surrounding. Here, the system is defined as the region of an equipment / unit which is under
investigation. The remainder of everything else is called the surrounding which is outside the
boundaries of the system. The system may be classified in three types, based on how the system
is interacting with the surrounding in terms of heat, work, and mass exchange.

(1) Isolated system

Here, the system can not exchange either heat, work or mass with the surrounding. Therefore, the
total energy of an isolated system does not be change or AE = E1-E>=0 where 4E is the change in
total energy of the system at two different states 1 and 2.

(2) Closed system

Here, the system can not exchange mass with the surrounding but heat and work may be
exchanged. Therefore, the change in total energy of a closed system within two different states
can be calculated as AE=4Q+AW where, AE is the change in energy of the system, 4Q is the
heat added to the system, and 41 is the work done on the system by the surrounding. The
change in total energy of a system, 4E equals to the summation of changes in potential, kinetic,
and internal energies of the system. However, the change in potential and kinetic energies of the
system are usually negligible and thus, the total energy E changes only due to the change in
internal energy, U. Therefore, for a closed system, we may write,

AU=AQ+AW

(3) Open system
In an open system all three mass, heat, and work may be exchanged with the surrounding.

Therefore, the change in total energy of an open system may be calculated as,

Addition or removal of
AE = AQ+ AW +| energy due to net inflow

of mass in the system

the following manner.



7

Rate of accumulation 1 [Net rate of inflow 1 [Net rate of heat
+

[.of energy in the system of energy by convection ) | addtion by conduction

‘Rate of heat
+ | gernerdion/ consumption

[Net rate of work )

done on the system ;
2 by the heat source or sin

‘Heat loss or gain
Lby radiation

The above equation takes into account the heat transfer by three different modes as shown below.

Conduction: In heat transfer, heat conduction is the transfer of heat from
higher temperature region to lower temperature region due to temperature
gradients.

Convection: The energy transfer may also occur due to the transport of material from
the boundaries of the system.

Radiation: This term implies transfer of heat energy due to electromagnetic waves
under certain range of wavelength. Radiation does not require a material medium for
energy transport like in conduction and convection. Unless the temperature is high, the
heat addition by radiation may be neglected.

While studying the subject of heat transfer, the main objective is to find the rate of heat transfer
from a body or a system. Fourier’s law of heat conduction provides the relation between the rate
of heat transfer and temperature gradients.

Fourier’s law of heat conduction

When a temperature gradient exists in a body, experience has shown that the heat is transferred
from higher temperatures to lower temperatures. Consider a solid block of surface area A, which
is located between two parallel planes, set a distance H apart as shown in Fig. (24.1). Initially, for
t<0, the solid block is maintained at a homogeneous temperature T1 throughout. After some time
t=0, lower plane is suddenly brought to a higher temperature T> and maintained at that
temperature for t>0. Once the steady state is achieved, it is found that a constant heat flux in x

0/ 4

direction is required to maintain the temperature difference, s required to maintain the
constant temperature difference (T2-T1) across the solid block.



x T
o W

> = X=10
y 2

Fig 24.1 Flow of heat between two parallel plates

Repetition of the above experiment with different temperature differences A7=(T.-T1) shows that
the heat flux is proportional to AT/H as shown in Fig. (24.2).

Q/A

L)

AT/H

Fig 24.2 Heat flus vs. temperature gradient

This implies that

_ 0 AT
2 A H
or

__, 4t
q. T

where k is called thermal conductivity. Negative sign indicates that the heat flows from higher
temperatures to lower temperatures.



Unit of thermal conductivity is

/
= lo] _ C%nf sec __ cd

dT °7 cm—sec °c
= cm

k
dx

The Equation (24.2) is called the Fourier’s law of heat conduction. By extending this equation in
three dimensions, we obtain

dT rector form as

g ==l ——

dx

_ AT
9= dv the molecular heat transport or conduction for an isotropic body and
& ystem. The detail forms of Fourier's law in all coordinate systems are

dT

g:= ~k—

dz

, ome simple heat transfer problems due to conduction by using shell
energy balance.

2.2 Heat conduction through a composite wall

Consider a composite wall of height L , width Wand thickness ! 2 The wall contains
two layers of different materials which have the thermal conductivity KO and K1, and different

51 and 5:

thickness respectively. At x=0, the composite wall is maintained at a constant

. xX=0,10,, . .
temperature TO, while at <7, it has a constant temperature T2 as shown in Fig. (25.1).
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Fig 25.1 Heat conduction through a composite wall

Assumptions

System is in steady state.
Thermal conductivity for both walls, KO, and K1 are constants.
System follows Fourier’s law of heat conduction.

Heat loss from side walls in direction of y and z are negligible.

Non-zero components of heat flux and the control volume



Qly ki A

s e
Ax L
W
X X+AX

Fig 2 Control volume for heat flow through a composite wall

Since temperature is changing in x direction only, the control volume is chosen such that it has
differential thickness in x direction as shown in Fig. (25.2) and gx is the only component of heat
flux.

Energy balance

Heat flux entering into the control volume at x = x is

q . HW |,

Heat flux leaving from the control volume at x = X + dx is p

quW L‘-'_\x (

Any source or sink of heat is not present in the control volume and work done on the system is
zero. The thermal energy balance for this control volume may be written as

0 = (¢.HW)|,..— (¢.HW)

X+Ax

After dividing by LWAX and taking the limit Ax to zero, we get



dq:( .
dx

0

Integration of this equation gives

qxz CJ

Here C1 is the integration constant. Equation (25.5) implies that heat flux is constant throughout
the composite wall.
By applying the Fourier’s law of heat conduction, we get

_ kT _
q.’( d\: 1

Equation (25.6) may also be written as

dI' —c

dx k

Now, the problem may be solved for both layers of composite wall separately.

Layer 1: 0<x< Of

Here, thermal conductivity is kO Therefore, Equation (25.7) may be changed to

At x=0, the temperature of the composite wall is given as T=TO0. Also the temperature of the first
at can be assumed as T=T11. By integration of Equation (25.8) and substituting the boundary
conditions, we obtain

c,0

- <7
1,,—1,= )
0

0, <X<06,

Layer 2: “

Similar to solution for layer one, solution for layer 2 may also be found and given below
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—,(6,-6,)

ZE’-TIQ: 3
1

Here, T12 is the assumed temperature of second layer of

X =6 (25.1

It may be noted that at the interface of the two layers at X=091, the heat fluxes are same for both
layers. Thus, equating the heat fluxes we find the integration constant c1 is same for both layers.
Also, thermal equilibrium may assume at interface and therefore,

I, = Iy

Using above boundary condition in Equation (25.9) and (25.10) and adding, we obtain

L=t +2
k&

or

ey BT

I VEX (51 5"_611
i

5 & |
The above equation (25.14) provides resulting heat flow per unit area of the composite wall.
In the last example, we had solved a heat transfer problem which involved cartesian coordinates.

To understand the formulation of problem in other coordinate systems two more example are
considered here. One in cylindrical coordinate system and second in spherical coordinate system.

2.3 Heat transfer in a cylindrical shell
Consider a long cylindrical shell of inner radius R1, outer radius R2, and length L shown in Fig.
26.1. The inner wall of cylindrical shell is maintained at constant temperature T1 and outer wall

is maintained at constant temperature T2. Calculate the heat transfer rate in radial direction
from the cylindrical shell.

11



Fig 26.1 Heat transfer in cylindrical shell

Assumptions

System is in steady state.
Thermal conductivity, k, is constant.
System follows Fourier’s law of heat conduction.

Heat loss in axial direction is negligible.

Non-zero heat flux component

Since temperature is changing in r direction only, gr is present. Now, consider a control volume
of differential thickness Ar as shown below

Fig 26.2 Control volume for heat transfer in cylindrical shell
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Shell energy balance across the control volume

Heat flux entering the control volume at r=r is

2rxrlq, | (26.1)

.

Heat flux leaving from the control volume at r=r+ Ar is

2nrlLq, |, (26.2)

No source or sink of heat is present in the control volume and work done on the system is zero.
Thus, the thermal energy balance is reduced to

0 =q,2nrL| —q,2nrL ]|,

By dividing Equation (26.3) to the volume of control volume 2nrLAr and taking the limit Ar
going to zero, we obtain

d(rq,) 0
dar

By integrating Equation (26.4), we get

C;

9. =
’ﬁ

where cl is a integration constant.
Substituting Fourier’s law of heat conduction in Equation (26.5) , we obtain

dT __ ¢
dr —kr
or

T'=-¢,Inr+c,

Here, c2 is the constant of integrations.
Boundary conditions are

a

¢ F=R, T=T,
(26.7)

13



and

r:Rz =1

at
(26.8)

This leads to the solution

T,—]}:—c‘,ln(Rz/RI)

<

| k(Tz—Tz)
= dni(R,/L R,)

Substituting the value of c1 in Equation (26.5), we finally obtain

k(T1—T2)

L rin(R,/R,)

The rate of heat transfer through cylindrical shell may be calculated as shown below,

0,=(211rxq,)| 27Lk(T1-T>)
— o )(q - R, — 4
‘ AT Rl R)
24 Heat transfer in a spherical shell
Consider a spherical shell of inner radius R1 and outer radius R2, whose inside and outside

surfaces are maintained at the constant temperatures T1 and T2 respectively as shown in Fig.
26.3. Calculate the heat flux from the spherical shell

14



Fig Heat transfer in hollow sphere

Assumptions

System is in steady state.
Thermal conductivity, k, is constant.

System follows Fourier’s law of heat conduction.

Non-zero heat flux component

Since temperature changing in r direction, only gr is present. The control volume may be drawn
of differential thickness or as shown in Fig (26.4).

Shell energy balance across the control volume

dnriq. |
(26.12)

Heat flux entering control volume at r=r is

2
Heat flux leaving control volume at r=r+ Ar is 4 q. L'—Ar
(26.13)
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Fig 26.4 Control volume for heat transfer in hollow sphere

Any heat source or sink is not present in the control volume and work done on the system is zero.
Thus, the thermal energy balance is reduced to

0:(q,4m‘2) L —(q,4m‘2) i

Dividing Equation (26.14) by volume of control volume dmr-Ar and taking the limit Ar—0 ,

we get

)
Rl A I
= qr)

and integrating Equation (26.15), we find

C;

qgr = )
e

where, cl is an integration constant.

By substituting Fourier’s law of heat conduction in Equation (26.16) and integrating, we obtain

16



where c2 is another integration constant.

The Equation (26.17) is subjected to the boundary conditions,

+7 =R, T=T,
(26.18)
and
¥ =R, =T,
at = -
(26.19)

Using above boundary conditions and evaluating the constants of integration c1 and c2, we
finally obtain heat flux through spherical shell as given below,

=1k(L—Q)
}‘,2 ] ] N\
M RJ R.?/

25 Heat transfer from a cylindrical composite wall : Use of heat transfer coefficients

Consider a cylindrical composite wall whose inner surface is exposed to a fluid at constant
temperature Tb and the outer surface is exposed to atmosphere at a temperature Ta. Ro is the
inner radius of cylinder while outer radius is R1. The cylinder is insulated and radius of
insulation changes from R1 to R2 as shown in Fig. (27.1). The inside and out side heat transfer
coefficients are hb and ha respectively. KO1 and K12 are the thermal conductivity of cylinder
material and insulation respectively. Calculate the overall heat loss through the cylindrical wall.

17



RORI RZ

Fig 1 Heat transfer in cylindrical composite wall

Assumptions

System is in steady state.
Thermal conductivities KOland K12 are constants.
System follows Fourier’s law of heat conduction.

Heat loss in axial directions are negligible.

Heat flux component

Here, the temperature is changing in the radial direction, and therefore, T=T(r) and qr is the only
non-zero heat flux. As we have seen in the previous problems, the energy balance for cylinder
material and insulation may be written as

rq, = c; = constant

where, c1= R0q0 = R1 g1= R2g2 where 0, q1, and g2 are the heat fluxes at RO, R1 and R2

18



respectively. Substituting Fourier's law of heat conduction, we obtain,

-kr aL =,
dr

Assume the unknown temperatures are TO, T1 and T2 respectively as shown in Fig. (27.1). To
solve Equation (27.2) for metal wall as well as for insulation material, it may be noted that the
metal wall subjected to the following boundary conditions.

o 7 =8, T=I, (27.3)
and
at ":RJ, =T, (27.4)

Similarly for insulation, we have the boundary condition (27.4) and second boundary condition
is given below

r=R,,T=T,
The final solution in for Equation (27.2) is given below

Bl -T)
[n(R,/R,)

q,Ro

or

: n(R,/
(,-T,) =gk~
01

or

and similarly

’ In(R,/R,)
k

17
14

(L-T)=¢q,R
Heat transfer coefficient

19



For complete solution of this problem, we need to solve problems of heat transfer in fluid inside
the cylindrical tube as well as in the atmosphere outside the insulation. However, if we know the
heat transfer coefficients, we may avoid finding these solutions. Recall the Newton's law of
cooling which states the rate of heat transfer from a body is proportional to the difference in
temperature between the body and its surrounding where q= AST where A is the constant of
proportionality. The heat transfer coefficients are similar to the coefficient A in the Newton's law
of cooling, using these coefficients

QO — ha(Ta —TO)

or

(’T _T‘:_‘ZQ_:%
L1 h, hR,

and for insulation, we have

or

(T, —T) _% _Rg
TN k. Rh

'~

3

By adding Equations (27.7), (27.8),(27.10) and (27.11) and, noting Equation (27.1), we get

1 _InR/K) IR/R) I

hR, Ky K, Rh,
or
_ (Z.-T,)

20



Heat conduction with a heat source

A cylindrical rod of radius RO and length L is producing heat which is equal to Sc per unit time
per unit volume, may be due to conversion of electrical energy into heat. The surface of the
cylinder is maintained at temperature TO. Determine the temperature profile.

T
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Fig 27.2 Heat transfer in cylindrical shell

Assumptions

System is in steady state.
Thermal conductivity of metal is constant.
System follow Fourier’s law of thermal heat conduction.
Heat loss in axial directions are negligible.
Once again, temperature is changing in r direction only and gr is the only non-zero component of

heat flux. Writing the following terms required for energy balance for a control volume shown in
Fig. 27.2, we obtain the following terms

2rrLq, |

Heat entering the control volume is

21



(27.13)

27[7"l,qr |7—Ar
Heat leaving control volume is
(27.14)

the heat produced in metal rod is given by

Scx 2nrAr L
Writing the energy balance, we find

2mrlg | - 2mlg, |, + Sc2mrv L = 0
which leads to the following differential equation

fd
(rg,)="5Sc

rdr

Integrating Equation (27.17), we finally obtain

rSc ¢
—_—
2 r

q9, =

To evaluate the constant of integration c1, we may apply the boundary condition that at r=0, gr is
finite; Therefore,
cl=0 (27.19)

or

rSc
2

q, =

Applying Fourier’s law of heat conduction, we have
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i dT _ rSc

dr 2
Thus, after integration, we obtain

7= _Scr‘ o
4k

The second boundary condition for this problem is that

at
r=R,T=1T,
or
CF:%+&R
’ 4k

Thus, the temperature profile may be determined as below

(T-T,)= ScR’ 1—(1):

4k R

2.6 Critical radius of insulation

Consider a cylindrical rod which is insulated by an insulation material as shown in Fig. (27.3).
The radius of the rod is RO and rod is maintained at temperature TO. The insulated rod is
surrounded by a medium at temperature Ta. The out-side heat transfer coefficient is ha.
Determine the critical radius of insulation at which the heat loss is maximum.
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Insulation

Fig 27.3Insulated cylindrical pipe

Once again, as shown earlier, the energy balance for cylindrical shell in insulation material leads
to the following differential equation.

Integrating Equation (27.25) and applying Fourier’s law of heat conduction, we obtain

P L
Toop T dr

The above equation may be integrated subject to the following boundary conditions

a ' =8, IT'=1,

(27.27)
and
« =R T=T,
(27.28)
Also, since the out side heat transfer coefficient is given, we have
Qr L:R;:ha (TJ—Ta) (27.

The solution of this problem is similar to the problem solved earlier for composite cylindrical
shell. Thus, we finally obtain

24



(7, -T.)

R, 1 % In(R;/R,)
h,R, k,

4o =

In Equation (27.28), we may define the overall heat transfer resistance as

Uz % { I in(RI/RO)}

70 AR, k,

In Equation (27.30), the first term in right hand side represents the convective heat transfer
resistance and the second term represents the conductive heat transfer resistance. It can be easily
observed that convective resistance decreases and conductive resistance increases as we increase
the thickness of the insulation, i.e., R1 thus, over all heat loss may initially increase and then
decreases as shown in Fig. 27.8. The value of R1 where the heat loss is maximum or the overall
heat transfer resistance is minimum, is called the critical radius of insulation.

Critical radius

Minimum thickness of
Q Insulation

\

R]
Fig 27.3 Thickness of insulation Vs. heat flux

Since, the overall heat transfer resistance should be minimum at critical radius, we have

av
dR,

[l
S

Critical radius

or
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1 1

e 27.33
k,R, R’h ( )
which provides the critical radius of insulation
k
R =R =1 (27
1) vt s © }
2&'

If the overall resistance U is differentiated twice with respect to the radius of insulation R1, we
obtain

d’U I 2
TR P ks 2
dR-j k!R "‘. R‘-]?

At critical radius of insulation the value of the right hand side in Equation of (27.35) is positive
as shown below

dU _-h’ 2n’ K’
T

- : .—h"q >0
R, kK hk k

Since, the value of second derivative is always positive, verifies that U is minimum at critical
radius of insulation. Thus, the heat loss is maximum at critical radius of insulation given by
Equation (27.33).

2.7 Derivation of equation of energy

In this section, we derive the equation of energy by using Axiom-4, which states that energy is
conserved. The equation of total energy may be further divided into two parts. First is the
equation of mechanical energy and second is the equation of thermal energy. The equation of
mechanical energy is derived from equation of motion. The equation of thermal energy is derived
by subtracting the equation of mechanical energy from the equation of total energy. Later, the
equation of thermal energy is modified in temperature explicit form, which may be used for
obtaining temperature profile

Consider a stationary control volume of dimension Ax, Ay and Az. The fluid is flowing with a

v
velocity =~ , which has components vx, vy and vz in X, y and z directions respectively, as
shown in the Fig.(28.1).
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V.,

Vv

L

X

Fig 28.1 Cubical control volume

“ 1

A~ pe— "';
The total energy consists of potential energy G , Internal energy v and kinetic energy 2
Since the control volume is fixed in the space, the change in potential energy is negligible.
Therefore, the energy balance may be written as .

(Rate of accumulation of internal ] Rate of net change of internal ] [Nu
+

& Kinetic energy in control volume & kinetic energy by convection ad

Work done on the system against varic
forces( Pressure, Gravityand Shear )

Rate of heat addition
by some heat sources

Now, we take each term in equation (28.1) and write them separately as given below.

(1) Rate of accumulation of internal and kinetic energy

The rate of accumulation of internal and kinetic energy in the control may be written as

o, 7 ..
—| (pxdyLz)| —v +U
&{(p b4 ﬂ
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~

U

where, is the internal energy per unit mass of the system.

(2) Rate of net change of kinetic and internal energy by convection

Net inflow of kinetic and internal energy by convection may be written as

(o 37401 | < (oo 357+
X x4
. Z., .53 | 7. .

[y Y+

) Tt s.= |, (T
+( pevA] —2\f U || (o) —2‘»" +U
= —iz e 4

(3) Rate of heat addition by conduction

As shown in Fig. (28.2), heat flux, ‘-Z , has three components gx, qy and gz respectively.
Therefore, the net heat addition by conduction is given below
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Fig 28.2 Cubical control volume with heat transfer

(qve) | — (g9 | o + (g | — (g A + (g Ady) | — (g AL,

(4) Rate work done on the system

: . . F
Work done on the system is defined as a scalar product of force and displacement vectors. If =~

is a force and el is the displacement then work done delta w;, is

éw = F.ol

or rate of work done is given by

or

or

=Fy +Ey, +F)

.
zZ
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Now, consider the forces acting on a fluid element. These forces are

Gravity force
Pressure force

Shear force

Therefore, we need to consider work done by these force on the control volume separately.
1. Rate of work done against Gravity forces

By following Equation (28.6), the work done against gravity force may be written as
= PAAYAzZg v+ pAxAVAZg v, + pAXAYAZg v,

2. Rate of work done by pressure forces
The pressure forces always act in the opposite direction to the outer normal of a plane. It is a
compressible force. Therefore, the work done on the control volume by pressure forces may be

calculated as follows
Rate of work done by x directed pressure forces:

= (vP)| vl — (v,P) ], 2

Rate of work done by y directed pressure forces:
= (v P)| Mcte— (v, P)|,,,, Axie

Rate of work done by z directed pressure forces:

= (vP)} Acdy— (v,P)]., Ay
Derivation of equation of energy

3. Rate of Work done by shear forces

There are nine components of shear stress tensor. Three of these act on x directed face, similarly
the net three acts on the y directed face and remaining three act on z directed faces (shown in

30



Fig. 29.1) as discussed earlier.

X

Fig.29.1 Shear stresses, acting on z directed plane

Therefore, the work done by shear forces on the control volume, acting on x directed plane may
be calculated as

rv+z'v+r 2 ke S22 TV AT, 45 v || Ak

Similarly, the work done by shear forces on the control volume, acting on y directed plane may
be calculated as

{zw +T V4TV, }L A\'Ag—{

wy

Y +LY AT, ILM

W X wy

and the work done by shear force on the control volume, acting on z directed plane may be
calculated as

(5 450, 45, ) Lo, Ay 0, 4,0, 47,0, | | Aty

5. Rate of Heat addition by Heat source or sink

If any heat source/sink is present in the control volume which generates the heat as Sc per unit
volume then heat generated in the control volume may be written as.
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= SCAxAyAz

We now substitute all terms given above in Eqution (28.1) and then divide by AxAyAz. After
taking the limits Ax,Ay and Az going to zero, we obtain the following equation

e & o) 2. e g e 5t ¢
= pl U+— ||== | =4 pw| U+— I+ pu| U+— [+—=< pre| U+— [} |- | =¢
a’[p( 2ﬂ a‘{ﬂ( 2} @’{p"[ 2} &{ﬂ[ ZJ} L"

, ¢ T8s. e R A R

veg +ve +ve |- —(A)+— P, |+—(Pv.)

PG+ %8, + V.| () a( e }

X

o) \ Oy \ O
+ = | Z% +z;}.13.+z;‘_v_,') +g |z, +T,.V, +z'::v‘_l) +§ | LYV ATV, T,

%

T
In Equation (29.5), the stress tensor ~was taken as shear forces. To change it into momentum

T
flux, we replace all components of ~with a minus sign. In addition, if we rewrite the Equation

(29.8) in vector and tensor form , we obtain the following result for equation of energy.

. 3P . i
g U+% =-V. U+% v-Vg+mg—-V(R)-V(zy)+S

We may further simplify Equation (29.6) by combining the internal energy and kinetic energy
terms as shown below. If

2

s:ﬁ+z—
2

Then, Equation (29.6) may be written as

ol ps
(; ) +V.psv=—Vg+pr.g-V.(Pv)-V.zv)+%

The left hand side of Equation (29.8) may be modified as shown below
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Therefor, Equation (29.10) simplifies to,

os
=p|—+v.Vs
p{ar e }

or

__B§
th

Therefore, Equation (29.08) simplifies to

pDs

o = Ya-V(p)+pvg-V.(zy)+Se

or
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ofoef).

Above equation represents the equation of total energy in terms of substantial derivative. Since
observer is moving with fluid in the case of substantial derivative, the convective terms are not
presents in the above equation.

~V.g-V.(Py)+prg-V(zy)+5

~

Derivation of equation of energy

In previous lecture, we had derived the equation of energy which may be further divided into two
parts

1. Equation of mechanical energy
2. Equation of thermal

energy Equation of mechanical

energy
For understanding the nature of mechanical energy, consider a simple case of a single particle
moving in one direction as shown in Fig. 30.1. Assume the particle has mass m and is located at

height h from a reference plane and moving upward with velocity Y. Gravity is the only force
working on the particle.

Z=0

Fig 30.1 A particle of mass m situated at height z

Starting with Newton’s second law of motion, we have
Force = mass x acceleration
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where
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F = ma

or

dv
F=m—=
dt

By taking dot product of equation (30.2) with velocity , we find that

dv
V.| F =m —

dt
or

dv
vF =my.—

dt

Using vector identity, we have

d(vy) dv v 5. v

=W, =gV,
dt dt dt dt

or

; dv id(‘j )
“dt 2

- dt

where, v is the magnitude of the velocity vector X .
By substituting Equation (30.6) in Equation (30.4), we obtain
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(]’—

“

-

(‘71

vWE+v,F+v,F,=m——=

For the example given above, we have ,

F1=0,F2=0,F3=-MQ ..cceoiiriiiiiieiee e

and

VI=0,v2=0,V3=V .cccccciniiirrreeer e,

Thus, Equation (30.7), reduces to

rf‘ S ‘
—Ving =l
n’r

Substitute v = (dz/dt). Thus we obtain,

.'\,

dt dt

Since, m and g are constants. We may rewrite above equation as,

& " LY
d ‘ m— ‘
d{mg ) . 2
e dt
or
mgz +m— ‘ 0
(]f
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2
3
Thus mgz + nm— = constant

First term in above equation is the potential energy and second term represents the kinetic
energy. Therefore, the above equation states that the sum of kinetic and potential energy remains
constant. This is the equation of mechanical energy for a particle and similar equation may be
derived for fluids as shown below.

Equation of mechanical energy for fluids

The equation of motion for a fluid is equivalent to Newton’s second law of motion for solid
bodies. Therefore, to derive the equation of mechanical energy for fluids we take the dot product
of velocity with equation of motion for fluids. i.e.,

Dy o
v.| p—=pg-VP-Vz
L Dt = T e
As before,

3
D’ e
Dy L 2 )
. = > /
- Dt Dt

(Note: substantial derivatives behave like normal derivatives.). Thus,

D p 2

e o

"Dt| 2

f
/

The following vector and tensor identities may be used for simplifying Equation (30.14)

V(Py) = P(Vy) +1(VP)

and if [3 is a second order symmetric tensor then we alsohave

V.(tyv) = vVzI+z:Vy

-~
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Thus, we obtain

ok ,.:zl"("g )~[¥(Pr)+ (~P(T0)) ][ . (22)+ (= ¥)]
or
ﬁ%’% =v.(pg)-V.(Py)+ P(Va)-V.(cv)+2: Ty

Equation (30.18) is called the equation of mechanical energy for fluids. Significance of each
term is given below.

2 Rate of change of |
D |uo;l\ done bv gravity |
S \ kinetic energy ) (,L -
Dt ’ : | force on the svstem
; A reversible comversion of
; | work done by pressure
—V.(Pv); -+ P(V.v): kinetic energy into
© 7| force on the system | Ll
: ‘ ¢ | the mrema/ energy
) [work done by wscous| A [irreversible comversion of
-V.(z.¥ z: V-

~

| forces on svstein | | kinetic energy in to the hea

As discussed earlier, the equation of thermal energy can be derived by subtracting the equation of
mechanical energy (Equation (30.18)) from the equation of total energy (Equation (29.15)), i.e.,

 Equation of thermal ‘ | * Equiation of ‘ "’Eqnmfﬂu of mechanical
_energy ) energy 2 L energy
thus
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D(U)

p— = ==V.q=V.(Pr)+ S+ V.(Pr)-P(V)~(z: V)
or
D(U) .
)——=-Vg+S-P(Vy)—(z:\W
P / (Yy)=(z-¥)

The significance of each term in equation of thermal energy, Equation (31.21) is given below

| Rate of change of

D(U) | Heat transferred| _ (Heat gener
p———< internal energy -V.q3 _ -+ Se <
’ ‘ ~ | bv conchiction | | by source
per unit volume :
reversible conversion of
| |me1 ersible conversion of
-P(V.v)< kinetic energy into L= (7
- T | kinetic energv in to the he
the inter na/ energy
o) . L N .
Here "~ ~~" is known as the viscous heat dissipation and the significance of this will be

discussed later.

Equation of mechanical energy of fluids and its interpretation

If we consider a special case of non-viscous fluid, where the shear stress is zero, Equation
(30.14) simplifies as shown below

Here, the gravity may be represented by gradient of a scalar quantity @, or

g==V¢

Then, Equation (30.23) may be rewritten as
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D%
p%i =—VP+ p| Vg )
z ; |

Further, if we assume that pressure and gravity do not depend on time. Thus, we have

P (t)

ot

After substituting these values in Equation (30.25), we obtain

(42
I)‘ T ‘ 2P -~
< | [ ( 2 co
p—Lmey Py oy V)= p
Dt i ot T ot

which may be further simplified as

£ 2 7 P
o(7) ofZ) .

\ 2 / P/ D¢

Dt Dt Dt
or

D(v' p =+

Dt\ 2 p

which leads to

L2

b I < S

‘ —+=+9 ‘ = constant
\ 2 p /
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The above equation is called Bernoulli’s equation. This states that the sum of the kinetic energy,
pressure and potential energy heads is constant for a non-viscous fluid.

Comparisons of mechanical and thermal energy

Equations (30.18) and (30.20) show that the heat flux by conduction, ? , IS not present in the
equation of mechanical energy and its contribution shows up only in the equation of thermal
energy. Similarly, the heat addition by a heat so appears only in the equation of thermal energy.
Also, as is shown letter the term (—2: Tv ~’is always positive and appears with a minus sign in
the equation of mechanical energy while it appears with a positive sign in the equation of thermal
energy. Indicating the mechanical energy always degrades and converts into thermal energy. All
these facts indicate that theses equations are consistence with the second law of thermodynamics
which specifies that for an isolated system work can be converted into heat but not vice versa.

Temperature explicit form of the equation of thermal energy

)

Internal energy, U , IS a state function which may be written in the terms of two intensive

variables. If the intensive variables are temperature and volume, we may write U(T,V Jand
(o0 (o0

dU = ‘ dT +| —

/p

dv

AT/
o ).

where the symbol “*” represents the value of the property per unit mass or per unit mole.

From thermodynamics for fluids

. _‘
dU = CvdT + P+T| P\ | p

For example, if fluid is an ideal gas then substituting the ideal gas law in the right hand side of
Equation (31.2), we obtain

42

(31.1)

(31.2)



PV =RT

or
] =2
v
Thus,
)
dU =cvdr+{ P+T| dTD }:adn{ P+TI—R}=0 (31.3)

For real fluids, Equation (31.2) may be written in the form of the substantial derivative,i.e.,

U . D ‘opY | DV
e iy ~P4T| = | : (31.4)
Dt Dt \oT ), | Dt

Furthermore, the specific volume V' is the inverse of the density p, or
; '_/ ] \_'
2N (31.5)
\ O/

Therefore,

’ P —1 Dp
= 31.6
Dr Dt pt Dt Sh

Thus, Equation (31.4) reduces to
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4 ”‘.
DU _ . DT, {Pr‘a}? }—_j@‘

Di Di oT )5 |\ o° Dt |

or
DU DT oP\ |(-1Dp)

P em——e| Pl — 31.7
“or T { | ar,,,} o D ’ GL7
However, the equation of thermal energy is

D(U)
0 ==V.q+5- P(Vy)—(z:Vy) (31.
Dt
From Equations (31.7) and (31.8), we obtain the temperature explicit form of equation of thermal
energy as
DT 1 (0P |Dp | _
oC —=—Vq PV ) =P T’ ’ x —+(—7.: Vv )+.Se (31.¢
Di p GOF ). | D S
.f’D
22,4 p(v)=0]
Using the equation of continuity * Di /, in above equation, we finally obtain
oo DF s g o (P ) g oy i ..

¢ —=-V.q-P(Vy)——|-P+T (Vo) |+(=7 Vv )+Se (31.

pC,—-=-Yq—P(V1) p[ |_'\OT/|J[;(, ) J+(-2: v

which simplifies the equation (31.10) leads to
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5 Fi o |
"D(_-fp E == —T{?—T‘ f ‘ {TT }+{ e ".,L_'.‘..}+ J.S'f{f
DI U B et N PR
or
oT (op) ., |
pC,| =42 VT |=-Vq-T| 2 | (Tx)+(=z: Vy)+Sc A
& v = o TR

Equation (31.11) represents the equation of thermal energy in terms of temperatures for a real
fluid. Expended form of Equation (31.11) in cartesian, cylindrical and spherical coordinate
system is given in Appendix-5. Some limiting cases of Equation (31.11) are discussed below.

Case 1: heat conduction in solids

In solids, all velocities are zero and Equation (31.11) simplifies to

L, or
pC,—=-V.q+Sc 2

Vot

{
where, the heat flux f’ may be estimated by the Fourier’s law of heat conduction. Ifk isa
constant then

q=—kVT

or,
)

oC, o kYT +Sc
ot

Equation (31.13) is also known as the Fourier's second law of heat conduction.

Case 2 Heat transfer in fluids with constant p and k
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For constant density, equation of continuity reduces to

Vy=0

In addition, the heat capacity at constant volume and constant pressures are the same. Thus,
&=,

For this case, the equation of thermal energy may be simplified to

oT
PC, I:——+1 VT} V2T +(—z:Vv)+Sc

ot
or
oT I's (—t:Vv) Se
4 yVl=—Vr4t =2 =2/ &
ot PC, pC, pC,

Equation (31.18) represents the equation of thermal energy for constant density and heat
conductivity. It may be noted that Equation (31.18) has a similar form as the equation of motion
for constant density and viscosity (Navior Stoke equation), i.e.,

By V
(—+ o.Nv ——T‘?\ —i+g
ot Jo, e, =

Both equations show the similarities between momentum and heat transport. The detail form of
Equation (31.18) for different coordinate system is given in the Appendix -5

2.8 Viscous heat dissipation / viscous heating

~7:Vv)

The viscous heat dissipation term ( ~ ~'in the equation of thermal energy represents the
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conversion of mechanical energy into thermal energy due to viscous dissipation. This termis

always positive. For Newtonian fluids, t may be calculated by using the Newton’s law
viscosity. The details are not shown here but may be found elsewhere, i.e.,

T ==V

~2:Vv= ug

where, @y is a scalar quantity and the value of @, for different coordinate system is given in the
Appendix -6. As may be seen from this table that all terms present in the expression from & are
positive. Thus, this viscous dissipation leads to increase the value of thermal energy and raises
the temperature of fluid.

Significance of Viscous dissipation / heating

As discussed in previous lecture, the viscous dissipation leads to rise in the temperature of fluid.
Here, we solve a problem which help us to understand the significance of this term in terms of
rise in temperature.

Consider a fluid flowing under laminar conditions between two parallel plates which are kept at
same temperature TO as shown in Fig. (32.1). The incoming fluid, at z = 0, have the same
temperature TO. Assuming steady state, determine the increase in temperature of fluid due to
viscous heat dissipation.

){ X:+B

>

Fig 32.1 Viscous flow between two parallel plates
Assumptions
Density p, viscosity p and thermal conductivity k are constants.

System is in steady state.
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Flow is laminar (simple shear flow) and fully developed.

Newton’s law of viscosity is applicable.

Fluid is flowing in z direction only and the Non-zero velocity components are
vx =0, vy =0, vz=vz(X)
the velocity profile vz may be easily obtained for a Newtonian fluid as given below

2
X

Vo= W f—? (32.1)

where vz max is the maximum velocity of fluid.

At steady state, the heat produced by viscous dissipation is removed from both plates to keep the
temperature of the plates at To. Thus, temperature of the fluid increases until the heat generation
by viscous dissipation matches the heat remove from the plates and the temperature is no longer
a function of z coordinate. For this fully developed region, the temperature is a function of x
coordinate only, i.e.,

T=T(x) (32.2)
For this case, the equation of thermal energy may be simplified as follows

2
{:; {Jr;fq.ou (32.3)
x

0=k

Substituting the value of viscous dissipation in the equation of thermal energy, we have

1., ; i \._Iz?
Ozkd—jﬂf e (32.4)
dlx \dx )

The velocity gradient in equation (32.4) may be estimated from Equation (32.1) as
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= ‘ —2%)
=1zmar | 32.5
dx LK) { )
Therefore, the Equation (32.4) finally simplifies as
2 2
d- T Ix°
0=Fk + U—
&’ J =R
or
2 2
d'T FEEY, e | 5 d
- = —| — - p; ‘_T ::‘.I..T {32.5]
dx e BY
where, A is a constant.
Integrating Equation (32.6), we finally obtain the temperature profile as
1t
I's——+c¢x+c, (32.7)

where c1 and c; are the constants of integrations. These constants may be determined by using
the following boundary conditions,

v=+BT=T,
(32.8)
or
AB*
Tﬂ:—jiCjB—FCQ {32.9]
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which leads to

cy=10 (32.10)
and
D¢
¢, = Ta—‘iﬂ (32.11)
¥ i

Thus, the rise in temperature of fluid is given by the following equation by substituting the value
of c1 and ¢ in Equation (32.7), we finally obtain,

’ 4
—AB*| . [ x)
i~ T B 2
12 B )
or
A
g [ ()
f 3 LB, (32.12)
Equation (32.12) shows that the rise in temperature is maximum at x = 0 and is given by
2
; AV
(T —T,) =—== (32.13)
maxy ‘3;{_
For example, if water is flowing at a maximum velocity 100 ft/sec, then we find,
2 -
£/ . fmz,mﬂr s IOU2 ’”ware:rzjﬂc a2 JOF
( gl i Fa— (32.14)
e :F;IF 3 fFl'

water 257 ¢
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Thus, even for such large velocities, the rise in temperature is only about 1°F. For highly viscous
fluids, such as polymer solutions with viscosity 1000 Cp, the temperature rise may be

(I - T,) = I000°F (32.15)

Therefore, we may conclude that the viscous dissipation may be important for highly viscous
fluids, for low viscosity fluid like air, the viscous dissipation term may be safely neglected.

29 Transpiration Cooling/ heating

Transpiration cooling / heating is used to reduce or enhance the heat transfer rates by a
convective flow of fluid in or opposite direction of the actual heat transfer. Additional
convective flow provides forced convection to produce the desired effect. A classic example of
the transpiration cooling is the design of a storage tank for liquefied gas nitrogen or oxygen.
Both liquefied gas have cryogenic boiling points. The required thickness of insulation material
may be quite high in order to reduce heat gained by conduction from surrounding at atmospheric
temperature to very low temperature in the tank. Here, we may use transpiration cooling to
reduce the heat transfer. Design of a cryogenic storage tank is shown below

(Gas space Allow to evaporate O,

Porous insulator

Fig 3 Use of transpiration cooling in liquefied gas container

Here, the cryogenic liquid is stored in a spherical container, which is surrounded by a porous
insulation, as shown in Fig. (32.2). Some amount of stored liquid is allowed to vaporize. This
vaporized gas fills the space between liquid gas container and the porous insulation. It provides
the cold jacket to the container and reduces the heat transfer. As this gas starts to diffuse through
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pores, it provides a convective transpiration cooling and prevents the heat transferred from
outside to the liquid container.

Here, we solve a simpler example of transpiration cooling. Assume the radius of two concentric
porous spheres are kR and R as shown in Fig. (32.3). The temperature of inner sphere is Tx and
outer sphere is To. The inner sphere is refrigerated. An air stream at temperature Tk with the mass
flow rate w is forced from the inner sphere to outer sphere for maintaining the internal sphere
temperature at Tx. Determine the heat flux with and without transpiration cooling(w = 0).

kR

m—

—_— T
—_— R o

Air Stream T
= Tk

Fig 32.3 Transpiration cooling between two concentric spherical shell

Assumptions

Density p, viscosity u & thermal conductivity k are constant.
System is in steady state.
Flow is laminar (simple shear flow) and fully developed.

Air flows only in the radial direction. Therefore, the non-zero velocity components are

I

Ve =v,=0&v, =v,(r) (32.16)

Assume, the temperature is changing only in radial direction, or,
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I =1TI(r) (32.17)
The equation of continuity in spherical coordinates provides,

1 d
——(priv, )=0
¥ odr

By integrating above equation, we obtain

e, 1'21; = constait (32.18)

Here, the mass flow rate may be calculated as

W= if;*‘gm; (32.19)
Thus,

W

Vr = W (32.20)

Since, the viscosity of air is very low, we may neglect the viscous dissipation term from the
equation of thermal energy, or

s 2 et 4 () 32.21
ST ¥odr\  dr ) (32.24,

Substituting the value of v, from Equation (32.20) in above equation, we obtain
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w dr B k d

or

d( ,dl\_Cywdl __ dT

] e = ¥ i O -=
dr\ dr ) 4rxk dr dr

where,

Equation (32.22) may be solved as follows

ar _

22"
dr

Thus, Equation ( 32.22 ) may be rewritten as,

d

r ——+2r¥ =R,Y

2y -
—(r'Y)=R,}
”rr ( ) 0
or
2 ff}y
i
or

d7pr? dr

¥ dr

Illr :

'\._

dY (R,—2r)dr

¥

which may be integrated to gives the following expression,

2

e

5 a1 )
%

dr )

(32.22)

(32.23)

(32.2

(32.2



—Ro

¥

nY + Inr‘=

() (32

Here, c1 is the integral constant. Thus, we have

By integrating Equation (32.27), we finally obtain

B
—Cj—rff+:? |

Here, c3 is another integration constant.

Boundary conditions for this problem are

at

r=R T=T,

and at

r=KRT=T 4

Finally evaluating c, and cs , we obtain the temperature profile between r = KR to R,
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—E. i r -8R R
T—To g Rl _omh
~BJER _ -K/R

Tk—Tﬂ_ e

Now, we may calculate heat loss from inner sphere by first calculating the temperature gradient
from above equation then multiplying it by the surface area of the sphere. Thus,

Q = (area of inner sphere ) ~<( heat flux -}|r=}cR

or
sy ol B
1:—_)_ (_’{""F qr}r=kR
T
., :_f._' -
dr

where,

Here, ‘—* sign is used as the outer normal of the inner sphere is in negative r direction. Thus,

O - fakRof-T o=Tw)
< T J(RJERNI-E) _ J

where

Now, consider the situation when transpiration cooling in not used. Therefore, the velocity of air
stream vy is zero. In this case, the equation of thermal energy may be written as

1 n"}_;d_T' s

“odr' dr )
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By integrating Equation (32.35) and using the above boundary conditions, we obtain

T-T, K |-'”f I
T~ SR F R

We may once again calculate the heat loss from inner sphere by following the same procedure as

earlier, thus,

dx KR(To—Tk)
Q="17%

Here, Qo is the heat loss without transpiration cooling. The transpiration cooling efficiency may

now be defined as

_g_)ﬂ_g?:j 4

e
s e"f
where,
W
p=——"
KR

Relation between the transpiration efficiency and @ is shown in Fig. (32.4). As may be seen
from this figure, the transpiration efficiency increases with increase in the value of @ or mass
flow rate, w. For very large values of @, transpiration efficiency approaches to one, which

implies that heat transfer from outer sphere to inner sphere, Q, is negligible.
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0

¢

Fig 32.4 Efficiency of transpiration cooling

210 Heat conduction in a rectangular fin

Fins are used to enhance the heat transfer from any surface by increasing the heat transfer surface
area. Due to heat conduction, this additional surface is at lower and lower temperatures as more
and more surface area is added. Thus, the rate of heat transfer decreases as we move away from
the original surface and efficiency of the fin is reduced. The effectiveness of a fin is defined as
the ratio of actual heat transfer through the fin and heat transfer when the whole fin surface is
available at the same temperature as that of the original surface. A simple rectangular fin is
shown in Fig. (33.1). The wall temperature is Tw and the ambient temperature is Ta. Dimensions
of fin are as shown in Fig. (33.1). Formulate the problem and determine the temperature profile.
Finally also calculate the efficiency of the fin.

/ -

Heat Loss by
gonvection,,

: | Az ——y

b1

£
— I

B=<L and
B<=<W
i T,

Fig 33.1 Rectangular fin
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Assumption

System is at steady state.
Fin has a constant heat conductivity.
The outside heat transfer coefficient is hg.
We may solve this problem for two different
cases.
Case 1: when L, W and B are of the same order of magnitude

In this case the temperature is a function of x, y and z coordinates, i.e.,

1= T(x, ¥, z)

and the equation of thermal energy may be written as

—V.ag =20

After substituting the Fourier’s law of conduction, we obtain

k 6{+O T—OT =0
av.' ad'.’ &-

The above equation may needs to be solved subject to the following boundary conditions,
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z=0,T=T,

z=L, qu;L :}5(7124 ~I

x=+B, q|_,=h(T|_,-T)
L s=h(T_5-T)

Wi

ZI’Q(TIWO _I;)

V=

v

x=-B, q,

y:O’ %

y=w, q\.
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and it is obvious that Equation (33.3) can not be solved analytically and requires computational
methods.

Case 2: Now, consider a case when thickness of the fin is negligible in comparison with
height and width, i.e., L & W >> 2B

In this case, the heat flux in y direction is small and we may write temperature as function of x
and z coordinates only,

= T(x,z)

In this case, the equation of thermal energy may be simplified as

& &7
k| —+—=|=0
cx” (o748

This may also require numerical solutions. To find simple analytical solution, we may further
assume that the average temperature, Tavg , at any cross section of fin is a function of z coordinate
only, i.e.,

Thus, we are reducing the original two dimensional into a one-dimensional problem to obtain an
approximate solution. This assumption is reasonably valid since the thickness of the fin is very
small and the variation of temperature in x direction may be averaged out. Since, we have
reduced a two dimensional problem to a one-dimensional problem by averaging the temperature,
the equation of thermal energy is no longer applicable. We may use the shell energy balance
approach to find a appropriate solution. For the sake of convenience,Tayg iS now replaced by T .
The control volume is a strip of the fin with thickness 2B, length 4z and width W as shown in
Fig. (33.2).

Z z+Az

Fig 33.2 Control volume for a rectangular fin
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Heat entering the control volume by conduction
= q, |, x2BW

Heat leaving the control volume by conduction
= {. L--Az x2BW

Heat loss from upper and lower surfaces of the control volume
= 2n(T-T) Wiz

Thus, energy balance may be written as

(qz z_qz z+Az) ZBW_ Qha(T— ];] WAZ = 0

After dividing the Equation (33.17) by 2BWAz and taking the limit Az—0 , we obtain

dqg. h |
S LR 0y oy il
dz B( a’

Fourier’s law may be applied here as

dT
=—k——
g. l

and finally, we obtain

d’T h,

dz* kB

(g

The Boundary conditions may be written as

at
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However, for a sufficiently long fin is small and we may assume that

at
= :0
=g,

By applying the above boundary conditions in Equation (33.20), we obtain the following
solution

L@ =coshNé&—(tanh N ) sinh Ne
(1,—1;)
where
_
KB and
zZ
E=—
¥5

This equation may be arranged as

g coshN(1-¢)
coshN

with
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T-T,
I -7

w a

9:

Going back to the original two dimensional problem given in Equation (33.11), even without
assuming anything further, we may still obtain the same results as given by Equation (33.26),
provided B is very small. Thus, the fin temperature is the function of both x and z coordinates,
I.e., T(x,z), and the equation of thermal energy may be written as

%, , %,

-‘\Z :0
ox Oz

If 2B is small (from the definition of a differential), we may approximate the first term as

ﬂ J—

Wx = ]irr qx x=B qx x=—35
=lim

ac B0 2B

By applying the boundary conditions given in the Equations (33.6) and (33.7), we get,

& WT-T)AH(T-T))

[

& 2B
or

Y ler 1)

& B e

where the partial derivative is replaced by the total derivative. By substituting the Equation
(33.31) in (33.28), we again obtain

d, WT-T)_,
dz B

where the partial derivative is replaced by the total derivative. After using the Fourier’s law of
heat conduction, we obtain the following differential equation

dT h

k== +22(T-T,)=0
B

2
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Equation (33.33) has the same form as Equation (33.20) and therefore the solutions is also the
same

Efficiency of the rectangular fin
As state above , the efficiency of fin may be defined as,

. Actual rate of heat loss from fin
Rate of heat loss from an isothermal finat T,

7

Substituting the values, we get

(&
[ [n. (-7, )z v
00

77:

© ey

j.ha (Ty - T, )dz dy
0

which may be simplified by using the above dimensionless numbers, defined in Equation (33.25)
and (33.27), as

-
[&15
77=.0-

ds

) e,

The Equation (33.35) leads to the following simple solution

1

1 1 ;
== mhN(1—¢
g cashN( NSI ( )

0

which may be further simplified as

. tanh N

7 N
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As may be noted from above equation » depends only on N. A simple plot for # vs N is shown
below

1 A
0.9 -
0.8 -
0.7
0.6

= 0.5 -
04
0.3 4
0.2
0.1

0 T

N
Fig 33.3 Efficiency of fin vs N
Fig. 4 shows that long fins have lesser efficiency. The optimum fin length may be found by
optimizing the enhancement in heat transfer and the cost of this additional surface area. In the

real life, the fins need not to be rectangular in shape and the different shaped fins may be
designed for enhanced fin efficiency.

Fourier’s Law of Heat Conduction

q=—kVT

Cartesian coordinates(x,y,z)

el

s O
% ax
of
gq,=—k—
oy

o1

= g<L

% oz

Cylindrical coordinates (r,0,z)
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or
S
_ler
b= e
oT
e
e 0z

Spherical coordinate (r, 6,D)

g = T
’ or
18T
Dy 1
%= 0
g =h——
/ Fsin @ 0g

Equation of Thermal Energy in Terms of heat flux
. [er ap
| —F+ VT = Vg-T| — | (VY T:Vv)+ .5
PC{& o } <4 [aTl?(mm) ( ) “;)

Cartesian coordinates(x,y,z)

fer or _or _or\ [ag, 9, qu_[@J P
mﬁ(&Jrvxaervf@ervz@z]_ {@eraer@z} if F(T-}:‘) (z:V

Cylindrical coordinates (r,0,z)
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or or v,of oTy [10 1og, oq, op
pcf,( = +, ~ +-2 5 +y, azJ:{——(rq,)+;—5+—}—T[—L(?y]

Spherical coordinate (r, 6,D)

e aTJrv Tt , Y o la(f‘zq)Jr 1 61(Qsinﬁ)+
o o oo rsin@od) |Fort 7 rsind oo ]

o P s
T(aTL(?-E) (z:Vn)+&

Equation of Energy for Pure Newtonian Fluid with Constant p and k

o K Si
& oyyr=vr B8
ot Xp &y Ky

Cartesian coordinates(x,y,z)

T &r or T\ &k |&T T &T| ud S
=— b el =
oL,y &t | e, g/

(a:r or v, 0T a:r] k 16(61’] 1@’1’ T ,u;sﬁ
et ok R — F—
ot @ raoe ‘& 1*6‘92 oz

Spherical coordinate (r, 6,D)

T or LY ar vy, T k|10 0T 1 é&{. .oT
e e e ——| ¥ s sin 80—
ot 6r r 86 rsinf 61;? o/ Fsing oo

b, 5
'le.P F

Appendix - 6
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Dissipation Function for

Newtonian Fluids Cartesian

(2 (% (%) ] o[ ] o[ ]

coordinates(x,y,z)

Cylindrical coordinates (r,0,z)

2 \IE 2 2 :
g[n = aV il 1%4_1?_" e avz + E _8 l% + l%+%
or FOO0 r) 0z o\ F ré‘ﬂ Foo oz
2{1 G 1w, o
—=+

& e Sge
3| ror rog oz |

Spherical coordinate (r, 0,D)

2 2 r 2
g =2 v, I%Jrv_r ¥ 1 @v¢+vr+vﬁc0t€ " FEv_ﬂ +l@
or Fae r \rsiné og ¥ a\r) ro
-2 2
sin@ & | v, 1 oy, 1 oy, a [ ¥
+ _ +— +| — +r—| =
r 00\ s, rsing 0¢ | rsing dg  OrlF

2
—2{1 5( ‘“})J’ : a(v sin &) + 1 %}
3| oF rsing 06 rsing 8¢

69



SATHYABAMA

INSTITUTE OF SCIENCE AND TECHNOLOGY
(DEEMED TO BE UNIVERSITY)
Accredited “A” Grade by NAAC | 12B Status by UGC | Approved by AICTE

www.sathyabama.ac.in

SCHOOL OF BIO AND CHEMICAL ENGINEERING

DEPARTMENT OF CHEMICAL ENGINEERING

UNIT - 111 - TRANSPORT PHENOMENA - SCH1309




Contents

3.1 Introduction to mass transfer
3.2 Diffusion flux

3.2.1 Fick’s law

3.2.2 Steady state diffusion
3.3 Pseudo steady state diffusion
3.4 Diffusion in liquids

3.5 Diffusion in solids



3 MASS TRANSFER
31 Introduction of Mass Transfer

When a system contains two or more components whose concentrations vary from point
to point, there is a natural tendency for mass to be transferred, minimizing the
concentration differences within a system. The transport of one constituent from a region
of higher concentration to that of a lower concentration is called mass transfer.

The transfer of mass within a fluid mixture or across a phase boundary is a process that
plays a major role in many industrial processes. Examples of such processes are:

Q) Dispersion of gases from stacks

(i) Removal of pollutants from plant discharge streams by absorption
(iii)  Stripping of gases from waste water

(iv)  Neutron diffusion within nuclear reactors

(V) Air conditioning

Many of air day-by-day experiences also involve mass transfer, for example:
() A lump of sugar added to a cup of coffee eventually dissolves andthen
eventually diffuses to make the concentration uniform.
(i) Water evaporates from ponds to increase the humidity of passing-air-stream
(i)  Perfumes presents a pleasant fragrance which is imparted throughout the
surrounding atmosphere.

The mechanism of mass transfer involves both molecular diffusion and convection.

The mole fraction for liquid and solid mixture, x a ,and for gaseous mixtures, y a, are the
molar concentration of species A divided by the molar density of the mixtures.

C
X A ’g (liquids and solids)

C
YA /2: (gases).

The sum of the mole fractions, by definition must equal 1;

(le) RIX @1l

Ry; @81
i



by similar way, mass fraction of A in mixture is;

W A L
1. The molar composition of a gas mixture at 273 K and 1.5 * 10 ® Pa is:
" Bmolar density B8,
\%
Therefore, density (or mass density) = & mM
Where M is the molecular weight of the gas.

1.5*10 °* 30.68
. M ?PM - k 3
Density @m BT 8314 273 9/“

=2.03 kg/m 3

Partial pressure of O > = [mole fraction of O 2] * total pressure

gL+ 1.5*10° '}
100

=0.07*15*10°

=0.105 * 10 5 Pa

3.2 Diffusion flux

Just as momentum and energy (heat) transfer have two mechanisms for transport-
molecular and convective, so does mass transfer. However, there are convective fluxes in
mass transfer, even on a molecular level. The reason for this is that in mass transfer,
whenever there is a driving force, there is always a net movement of the mass of a
particular species which results in a bulk motion of molecules. Of course, there can also
be convective mass transport due to macroscopic fluid motion. In this chapter the focus is
on molecular mass transfer.

The mass (or molar) flux of a given species is a vector quantity denoting the amount of
the particular species, in either mass or molar units, that passes per given increment of
time through a unit area normal to the vector. The flux of species defined with reference
to fixed spatial coordinates, Na is

NaBCABA (1)

This could be written interms of diffusion velocity of A, (i.e., @ a - @) and average
velocity of mixture, @, as

NaBCA @A ER)ECAR . )



By definition

B C ;B

B ER*
C

Therefore, equation (2) becomes
NABCA @ B) pCA- BC8;
C

BC A EAE)E  y pC.p
i

For systems containing two components A and B,

NaAaBCA (@Al B)B ya(CaB ABCpgBp)
BCA@al B)82 YANNA @ENR)
NABCA Ea! B)EYaAN oo 3)

The first term on the right hand side of this equation is diffusional molar flux of A, and
the second term is flux due to bulk motion.

3.2.1 Fick’s law:
An empirical relation for the diffusional molar flux, first postulated by Fick and,
accordingly, often referred to as Fick’s first law, defines the diffusion of component A in

an isothermal, isobaric system. For diffusion in only the Z direction, the Fick’s rate
equation is

JaBED o5 9CAa
dz

where D ag is diffusivity or diffusion coefficient for component A diffusing through
component B, and dCa / dZ is the concentration gradient in the Z-direction.

A more general flux relation which is not restricted to isothermal, isobasic system could
be written as

‘JACDAB dyA ----------------- (4)
dz

using this expression, Equation (3) could be written as

NABECDpg 9YA By aAN  coomeeee (5)
dz



Relation among molar fluxes:

For a binary system containing A and B, from Equation (5),

NaARJABRY AN
or JABNA BYaAN e (6)

Similarly,

Jg@N g BygN . (7)

Addition of Equation (6) & (7) gives,

JaBJg OBNAENgE(YY  AByg)N (8)
By definitonN=Na+Ngandya+ygs=1.
Therefore equation (8) becomes,
Ja+Je=0
Ja=-Js
CDag 9YA m3CDgy 9YB e 9)
dz dz

From ya+yg=1
dya=-dys

Therefore Equation (9) becomes,

This leads to the conclusion that diffusivity of A in B is equal to diffusivity of B in A.

Diffusivity
Fick’s law proportionality, D ag, is known as mass diffusivity (simply as diffusivity) or as

the diffusion coefficient. D ag has the dimension of L 2/ t, identical to the fundamental
dimensions of the other transport properties: Kinematic viscosity, B& = (21 / @) in

momentum transfer, and thermal diffusivity, @ (= k /@ C ) in heat transfer.

Diffusivity is normally reported in cm? / sec; the SI unit being m? / sec.

Diffusivity depends on pressure, temperature, and composition of the system.



In table, some values of Dag are given for a few gas, liquid, and solid systems.
Diffusivities of gases at low density are almost composition independent, incease with the
temperature and vary inversely with pressure. Liquid and solid diffusivities are strongly
concentration dependent and increase with temperature.

General range of values of diffusivity:

Gases : 5X10 8 e 1X10° m?/ sec.
Liquids : 0% e 10°° m? / sec.
Solids : 5X10 ¥ e 1 X101 m?/sec.

In the absence of experimental data, semitheoretical expressions have been developed
which give approximation, sometimes as valid as experimental values, due to the
difficulties encountered in experimental measurements.

Diffusivity in Gases:
Pressure dependence of diffusivity is given by
1
D s b (for moderate ranges of pressures, upto 25 atm).

And temperature dependency is according to
DagBT %

Diffusivity of a component in a mixture of components can be calculated using the
diffusivities for the various binary pairs involved in the mixture. The relation given by
Wilke is

1
. =N
D 1i mixture y% y% lllllllllll Y=L
D]j 2 D]j 3

Where D 1-mixture IS the diffusivity for component 1 in the gas mixture; D 1.1 is the
diffusivity for the binary pair, component 1 diffusing through component n; and Y is
the mole fraction of component n in the gas mixture evaluated on a component —1 — free
basis, that is

Diffusivity in liquids:



Diffusivity in liquid are exemplified by the values given in table ... Most of these values
are nearer to 10° cm? / sec, and about ten thousand times shower than those in dilute
gases. This characteristic of liquid diffusion often limits the overall rate of processes
accruing in liquids (such as reaction between two components in liquids).

In chemistry, diffusivity limits the rate of acid-base reactions; in the chemical industry,
diffusion is responsible for the rates of liquid-liquid extraction. Diffusion in liquids is
important because it is slow.

Certain molecules diffuse as molecules, while others which are designated as electrolytes
ionize in solutions and diffuse as ions. For example, sodium chloride (NaCl), diffuses in
water as ions Na * and CI". Though each ions has a different mobility, the electrical
neutrality of the solution indicates the ions must diffuse at the same rate; accordingly it is
possible to speak of a diffusion coefficient for molecular electrolytes such as NaCl.
However, if several ions are present, the diffusion rates of the individual cations and
anions must be considered, and molecular diffusion coefficients have no meaning.

Diffusivity varies inversely with viscosity when the ratio of solute to solvent ratio
exceeds five. In extremely high viscosity materials, diffusion becomes independent of
viscosity.

Diffusivity in solids:

Typical values for diffusivity in solids are shown in table. One outstanding characteristic
of these values is their small size, usually thousands of time less than those in a liquid,
which are inturn 10,000 times less than those in a gas.

Diffusion plays a major role in catalysis and is important to the chemical engineer. For
metallurgists, diffusion of atoms within the solids is of more importance.

3.2.2 Steady State Diffusion

In this section, steady-state molecular mass transfer through simple systems in which the
concentration and molar flux are functions of a single space coordinate will be
considered.

In a binary system, containing A and B, this molar flux in the direction of z, as given by
Eqgn (5) is [section 3.3.1] ’
Nap ECDap );A Bya (NaENB) (1)
z

Problem. Oxygen is diffusing in a mixture of oxygen-nitrogen at 1 std atm, 25IC.
Concentration of oxygen at planes 2 mm apart are 10 and 20 volume % respectively.
Nitrogen is non-diffusing.



(@ Derive the appropriate expression to calculate the flux oxygen. Define units
of each term clearly.

() Calculate the flux of oxygen. Diffusivity of oxygen in nitrogen = 1.89 * 10 -°
m 2/sec.

Solution:
Let us denote oxygen as A and nitrogen as B. Flux of A (i.e.) N a is made up of two

components, namely that resulting from the bulk motion of A (i.e.), Nx A and that
resulting from molecular diffusion J a:

N AR NX AR A (l)
From Fick’s law of diffusion,

JADAB """"""""""""""""""""""""""""""""""" (2)

Substituting this equation (1)

N ABNXA 8D ag A (3)

dz

SinceN=Na+Ngandxa=C a/C equation (3) becomes

C dC
NaBNa BNg:  “p A
i C? AB dz

Rearranging the terms and integrating between the planes between 1 and 2,

dz Caz dCa o (4)

cD ag CANACE C N, ENG!

Since B is non diffusing N g = 0. Also, the total concentration C remains constant.
Therefore, equation (4) becomes

C dC a
Z CA2
CD aB AL N ACEN AC A
1, CeC a2

— n
A CaC a1

Therefore,



CDap InCCA2

N e
A z CiCu ®)

Replacing concentration in terms of pressures using Ideal gas law, equation (5) becomes

DagPt |, Pt? Pa
NaB —p5— I IV — (6)
where
Dag = molecular diffusivity of Ain B
P 1 = total pressure of system
R = universal gas constant
T = temperature of system in absolute scale
z = distance between two planes across the direction of diffusion
P a1 = partial pressure of A at plane 1, and
P a2 = partial pressure of A at plane 2

Given:
D ag = 1.89 * 10 > m?/sec
Pt¢=1atm=1.01325* 10 ° N/m 2
T=25C=273+25=298K
z=2mm=0.002m
P a1=0.2*1=0.2 atm (From Ideal gas law and additive pressure rule)
Pa2=01*1=0.1atm

Substituting these in equation (6)

j j 111 0.17
1.80 *10'5/1.01325 105/ ==

N B B

—— K|
1831411298110.002] N oo
= 4.55 * 10 ~° kmol/m2sec

3.3 Psuedo steady state diffusion through a stagnant film:

In many mass transfer operations, one of the boundaries may move with time. If the
length of the diffusion path changes a small amount over a long period of time, a pseudo
steady state diffusion model may be used. When this condition exists, the equation of
steady state diffusion through stagnant gas’ can be used to find the flux.

If the difference in the level of liquid A over the time interval considered is only a small
fraction of the total diffusion path, and to — t is relatively long period of time, at any given
instant in that period, the molar flux in the gas phase may be evaluated by

CDag(y a1 V) R 1)
ZY B, Im

N A B

10



where z equals z > — z1, the length of the diffusion path at time t.

The molar flux Na is related to the amount of A leaving the liquid by

Npm _ALYSZ
Ma dt (2)
where "~ is the molar density of A in the liquid phase

M a
under Psuedo steady state conditions, equations (1) & (2) can be equated to give

BaL CD ALl
L dz AB (Y YA2) 3)
Ma dt ZY B, Im

Equation. (3) may be integrated fromt=0to t and fromz =z ¢ t0 z = z; as:

t

@ dt
t @0

BaLYBm /Mp &
g 3z d
CD as(y ALBY »p) zoZ ‘

ieldin
y g By 2p7 20

t @ PaLYBim /Ma 5% - (4)

CDAB(y ALly A2) 2

This shall be rearranged to evaluate diffusivity Dag as,
BALYB, Im Bz2pz20
DN:! Bt t0g
MAC (y mB ya2)t 2
Equimolar counter diffusion:

A physical situation which is encountered in the distillation of two constituents whose
molar latent heats of vaporization are essentially equal, stipulates that the flux of one
gaseous component is equal to but acting in the opposite direction from the other gaseous
component; that is, Na = - Ng.

The molar flux Na, for a binary system at constant temperature and pressure is described
by

NA CDAgmyA (NANB)
dz

11



2D g 9CA By, (NaABNG) 1)

N
or A dz

with the substitution of Ns = - Na, Equation (1) becomes,

For steady state diffusion Equation. (2) may be integrated, using the boundary conditions:
at z=2z1 Ca= Ca1
and z=2 Ca= Ca2

Giving,
Z, Ca2
N @d z BED ag CdCA
Zl Al
from which

NA Di(CAl CAZ)

___________________ 3
Z 22 1 ( )
. n :
For ideal gases, C A VL % . Therefore Equation. (3) becomes
s DPans :
Na B 28 (Pml ppy) o )
RT(z,08z9)

This is the equation of molar flux for steady-state equimolar counter diffusion.

Concentration profile in these equimolar counter diffusion may be obtained from,

d
e (N'A)20  (Since Nais constant over the diffusion path).

And from equation. (2)

NaBE D ,,93CA
dz’
Therefore
dCal
_ U Dgpg ''@o
dz dzpg

12



2
d°Ca o,

dz 2

or

This equation may be solved using the boundary conditions to give

______________ (5)
C,0Cna z.02,

Problem. Methane diffuses at steady state through a tube containing helium. At point 1
the partial pressure of methane is p a1 = 55 kPa and at point 2, 0.03 m apart P a2 = 15 KPa.
The total pressure is 101.32 kPa, and the temperature is 298 K. At this pressure and
temperature, the value of diffusivity is 6.75 * 10 > m %/sec.

0) calculate the flux of CH 4 at steady state for equimolar counter diffusion.
i) Calculate the partial pressure at a point 0.02 m apart from point 1.
Calculation:

For steady state equimolar counter diffusion, molar flux is given by

D _
N AB o N T 1)
A RTz Al A2

Therefore;
6.75*10% ., 15 kmol
8.314 * 298 * 0.03 m 2.sec

> kmol
@3.633*102° —
m = secC

N p B

And from (1), partial pressure at 0.02 m from point 1 is:

g5 :
633 % 1075 6.75 * 10 551 p
3633710 B o314+ 208002 A

P A = 28.33 kPa

Problem. In a gas mixture of hydrogen and oxygen, steady state equimolar counter
diffusion is occurring at a total pressure of 100 kPa and temperature of 20iC. If the
partial pressures of oxygen at two planes 0.01 m apart, and perpendicular to the direction
of diffusion are 15 kPa and 5 kPa, respectively and the mass diffusion flux of oxygen in
the mixture is 1.6 * 10> kmol/m2.sec, calculate the molecular diffusivity for the system.

Solution:

13



For equimolar counter current diffusion:

D
N ABﬂp

A ﬁ Al A2

where

N a = molar flux of A (1.6 * 10 > kmol/m Zsec):

D as = molecular diffusivity of A in B

R = Universal gas constant (8.314 kJ/kmol.k)

T = Temperature in absolute scale (273 + 20 = 293 K)

z = distance between two measurement planes 1 and 2 (0.01 m)
P a1 = partial pressure of A at plane 1 (15 kPa); and

P a2 = partial pressure of A at plane 2 (5 kPa)

Substituting these in equation (1)

D
1.6*10%° 5 A8 151 5]

"18.31411293110.01
Therefore, D ag = 3.898 * 10 > m ?/sec

Problem. A tube 1 cm in inside diameter that is 20 cm long is filled with Co; and H; at a
total pressure of 2 atm at 0iC. The diffusion coefficient of the Co> — Hz system under
these conditions is 0.275 cm?/sec. If the partial pressure of Co, is 1.5 atm at one end of
the tube and 0.5 atm at the other end, find the rate of diffusion for:

) steady state equimolar counter diffusion (Na =- Ng)

i) steady state counter diffusion where Ng =-0.75 N A, and
iif steady state diffusion of Coz through stagnant Hz (Ng = 0)

i)NACDAB dﬂyA NA NB

dz
Given
Ng=-Na

d dC

Therefore Ny P2CDas YA BED g A
dz dz
i . Pa

(For ideal gas mixture C A RT where pa is the partial pressure of A; such that p o + p

B=P)

Therefore N A gip , 5 dlpa RT!
dz

14



For isothermal system, T is constant

BDag  dp
Therefore Na P “pp™ — ZA
Z3 D An A2
(ie) Napdzae A8 Bdpa
2 RT AL
AB j - i
N P OIP e (1)

A RT z Al A2

whereZ=272,-271
Given: Dag = 0.275 cm?/sec =0.275* 10 *m? /sec ; T = 0IC =273 k

0.275*10" :
8314 * 27302 1.5 *1.01325 *10 51 0.5 * 1.01325 * 10 5

m6.138 * 1026 Kk mol
m Zsec

Rate of diffusion=N a S

Where S is surface area

Therefore rate of diffusion = 6.138 * 106 * g r 2
=6.138 * 10 5* @ (0.5 * 10 2)?
= 4.821 * 10 1% k mol/sec
=1.735* 10 2 mol/hr.
d ; 5
i) N o PECDag deZAy AN A BN

given:Ng=-0.75N a

Therefore N 4 BACD ag MyA ENA] 0.75NA
dz

dya
dz AN A
d
NaAB 025y ANABE CDpg dyA
z
Nadz B8CDag _ 9¥A
1170.25y A

for constant N a and C

15



Zo Y A2 dyA

Z1 Y AL 110.25y A

B dx

B afmb x
T il

- 113 f
N Aoz BICDagl =5 lln: 025y, § &2

'
4CD AB 111 025y Azz

Nall —o— N3 go5g il e

Given:

a2 2*1.01325*10° 3
C 0.0893 K mol
RT 8314 * 273 m

Pa1 15 pmo.75
— R 4\l
2 P 2

Pa2 0.5 @0.25
Yaz BB

Substituting these in equation (2),

, 1180.25 *0.25
4*0.0893 *0.275 * 10 g

N Al 0.2

N1, 0.25%0.75
7.028 * 1076 _kmol
m 2 secC
Rate of diffusion=N A S =7.028* 10 ®*@* (0.5 * 10 2) 2
=5.52 * 10 *® kmol/sec
=1.987 * 10 2 mol/hr.

Given:Ng=0

d
Therefore Ny B2CD ag Ty A ByaNa
Z

Z, Ya dya
Na @dzEPECDagZ:
1.y
vV A1l A
CD g M3 YA2l
n@______ @
Z 1 YA1_
0.0893 *0.275 * 10 Inﬂlﬁ 0.2511
'
0.2 180.75

16
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m1.349 * 1025 _kmol

m 2. sec

Rate of diffusion = 1.349 8 10 > *@* (0.5* 10 ?) 2

=1.059 Kmol / sec
= 3.814 mol/hr

3.4 Diffusion in Liquids:
Equation derived for diffusion in gases equally applies to diffusion in liquids with
some modifications. Mole fraction in liquid phases is normally written as ‘x’ (in gases as

H I Tall . .
y). The concentration term “C’ is replaced by average molar density, 2,
Y av
@ For steady — state diffusion of A through non diffusivity B:
NA:cE())nstant,NB:o [
AB X 1x |
N A A S Al A2
BM av

where Z = Z » — Z 1, the length of diffusion path; and

X BM A X B
Ini " B2 X
I Bl
b) For steady — state equimolar counter diffusion :

Na= = const
N d\’k%ﬁc 1C EDABﬂ i IX

A —Z Al A2 AL A2
av

Problem. Calculate the rate of diffusion of butanol at 20:C under unidirectional steady
state conditions through a 0.1 cm thick film of water when the concentrations of butanol
at the opposite sides of the film are, respectively 10% and 4% butanol by weight. The
diffusivity of butanol in water solution is 5.9 * 10 ° cm %/sec. The densities of 10% and
4% butanol solutions at 20iIC may be taken as 0.971 and 0.992 g/cc respectively.
Molecular weight of Butanol (C 4 H 9 OH) is 74, and that of water 18.

Calculations

For steady state unidirectional diffusion,

. )

Dag iy EXAZ

NaB ~ 27 C—x——
B, Im

where C is the average molar density.

avg
Conversion from weight fraction the Mole fraction:

17



in 1/
XmB (174 0/9{8

0.026

Average molecular weight at 1 & 2:

1

0.174 16.918]
M,@ [0.0474180.9618 [©18.56kg /Kmol

M 1@

o o Matts M|

25

M Bayg
0.971 19.47 @0.992 18.36
' 2
=0.0517 gmol / cm 3
=51.7 kmol/m 3
Xg2l Xg 11 g B 11 x p
X B,Im ﬁ A2 Al
NXpg2 /Xgy |n A2
QL XA1I
i

. 110.0111 11 0.026
(i) X gy
QLo 50082

i 7
Therefore N a D@L =

Pavg B, Im
76 R4 i
5.9*10 "*10 " *51L7 | 150261 0.010]
0.1*10%2 0.982
m4.97+10%7 _kmol
m 2 secC
m1.789 _gmol
2 hr.
«74 9
m 2. hr .

2132.4 g
m “. hr.

@1.789

18



3.5 Diffusion in solids

In certain unit operation of chemical engineering such as in drying or in
absorption, mass transfer takes place between a solid and a fluid phase. If the transferred
species is distributed uniformly in the solid phase and forms a homogeneous medium, the
diffusion of the species in the solid phase is said to be structure independent. In this cases
diffusivity or diffusion coefficient is direction — independent.

At steady state, and for mass diffusion which is independent of the solid matrix
structure, the molar flux in the z direction is :

NaZDag ddC A @ constant , as given by Fick’s law.

V4
Integrating the above equation, .
D ag IC a11C ap!

N A
which is similar to the e>z<pression obtained for diffusion in a stagnant fluid with no bulk
motion (i.e. N =0).

In some chemical operations, such as heterogeneous catalysis, an important factor,
affecting the rate of reaction is the diffusions of the gaseous component through a porous
solid. The effective diffusivity in the solid is reduced below what it could be in a free
fluid, for two reasons. First, the tortuous nature of the path increases the distance, which a
molecule must travel to advance a given distance in the solid. Second, the free cross —
sectional area is restricted. For many catalyst pellets, the effective diffusivity of a gaseous
component is of the order of one tenth of its value in a free gas.

If the pressure is low enough and the pores are small enough, the gas molecules
will collide with the walls more frequently than with each other. This is known as
Knudsen flow or Knudsen diffusion. Upon hitting the wall, the molecules are
momentarily absorbed and then given off in random directions. The gas flux is reduced
by the wall collisions.

By use of the kinetic flux is the concentration gradient is independent of pressure ;
whereas the proportionality constant for molecular diffusion in gases (i.e. Diffusivity) is
inversely proportional to pressure.

Knudsen diffusion occurs when the size of the pore is of the order of the mean
free path of the diffusing molecule.
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4.1 Derivation of equation of energy

1. Equation of mechanical energy

2. Equation of thermal energy

Equation of mechanical energy

For understanding the nature of mechanical energy, consider a simple case of a single
particle moving in one direction as shown in Fig. 30.1. Assume the particle has mass m
and is locatedat height h from a reference plane and moving upward with velocity *.

Gravity is the only force working on the particle.

11

Z=0
Starting with Newton’s second law of motion,

we have Force = mass X acceleration

dv
1}? = my. vy
dt

F = ma

F = }Hi 1|:E = (]Y}
Using vector identity, we have

d(vy) dv v L v
=y —+ —=y=2Jv.—
dt Tdt dt T T odt




or

n—==

dy ia’{:vz)
dt 2

B dt

where, v is the magnitude of the

velocity vector L. By substituting

2‘.
.‘.

-

(]‘
1'ij + \‘2F2 +1'3F3 = m—“(_]{

For the example given above, we have ,
F1=0,F2=0, F3=-mg

and

vli=0,v2=0,v3=v

5

r‘f‘ S |

i : i

—ving =m———=
dt

Substitute v = (dz/dt). Thus we obtain,



.'\.

Since, m and g are constants. We may rewrite above equation as,

|'/ _‘i’? 1‘\'|
d ‘ — ‘
d(mg ) . 2
dt dt
or
/ 2 ]
mgz +m— ‘ 0
(]I
34
Thus mgz + B— = constant
Dv |
v p—=pg—-VP-Vr1
S D1 < 4 A
As before,
3
D‘ : s ‘
Dy L2
3 — e 5
T Dt Dt
(Note: substantial derivatives behave like normal derivatives.). Thus,
I) './1‘ N
p—| = |= pgr—v.(¥YP)-2(¥.£)
Dt| 2 -

The following vector and tensor identities may be used for simplifying Equation (30.14)



V.(Py) = P(Vy) + v (VP)

t and if  is a second order symmetric tensor then we also have

Vi(zy) = yvVz+z:Vy

-~

Thus, we obtain

D () o o - I
Pl 2 )7 v{pg )‘[T.( Py)+(-P(Vx) )]—[?. (zx)+ (=2 Vv)]
D /12 \ |
e b i R T

Equation is called the equation of mechanical energy for fluids.
Significance of each term is given below.

’2\.

‘ Rate of change of ‘
p— — ‘ kinetic energv =, (,{
=i |

|’1I‘01‘f{ done by c'rm'ih'.]

| force on the svstem |
per wmnit volume ;

reversible comversion of |
[umk done bv pressure ]

—V.(Pv)4 + P(V.v): kinetic energy info
| force on the svstem I ‘ ‘
* the mi‘emr:f energy |
5 e | work done by viscous | e [n‘;‘ererﬂ ble comversion of ]
2y +7r:Vr ;

| forces on svstein | : [ kinetic energy in to the heat |



D o) | Rate of change of |
~o internal energy - =-V.q _ e g :
Dt ‘ ‘ “| by conduction | | by source or sink |

| Heat transferred | | Heat generated / removed |
!‘J P W 2 5 & "

per wnit voluimne

‘reversible comversion of | . : y ;
|irreversible conversion of |

~(z: ),

-P(‘F.v)-:‘hmﬁ{: energy into T L :
e =77 | kinetic energy in to the heat |

the internal energy ‘

4.2 FLOW THROUGH PACKED BED

-;"//Eél % €=Bed Porosity

d. =Particle size

For the theoretical analysis to calculate pressure—drop, actual flow
channels are replaced with parallel cylindrical conduits of constant cross—
section. Particles are assumed to be of the same size and shape having

constant sphericity, s,
Pressure—drop occurs due to inertial and viscous effects. At high Reynolds

number, inertial effects prevail, whereas the viscous effects are important
at low Reynolds number. In general,
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(ﬁp)total = (‘ﬁp)viscous ¥ (ﬂp)inertial

Drag over the channel — walls
Fp consiting of packed bed particles

As Total surface area of particles
eV 5
=By (_) + K, (V)
' |
4u.V 1V
T= or ta ——
r 'y

: : Total cross — section of conduits
ry, = hydraulic radius =

Wetted parameter

As = Np X Sp
L L
Total # of particles Surface areaof one particle
S,L(1—¢) .
= ——— X sp, where vy = volume of one partide
Ve
Vo 6 v

= ;v = — ,where v, = superficial velocity
sp Ppdp -
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Similarly, pressure—drop at high Reynolds number, Ap o PV Therefore, Pressure-drop
in packed beds is related to pressure-drop due to viscous and inertial effects via two

empirical constants, K1and K;

Total volume of voids

Total surface area of particles (ytiply both numerator and denominator by
_ (8,L)e
L) As | So = cross sectional area of packed—bed

eZ

—— == = + Kf_v
As S.L(1l—e) X6 & S,L $p dp 2Py

Pevz p. (1L —&)
=% [6K1F—+K2
3 Voq}s dP pf‘

Fp,  Fpdpdy [ MeVo S,L(1—e)6 v;’]
k

Fp = drag — force = (Ap),oea X S,€

("j‘p)tatal (Suejcbs dp - ﬁ |:6K1y'f' (1—e) +K ]

S,L(1—e)x6 Pee b, dpv, Py

%( 3 )(q;s dp): 36K1pF(1—e)+6K2

L \1—e P V3 &, dpv, P

%( 3 ) (q;g df): 150(1—ejp_E+ ol

L \1—e P Va $. dpv, Py

o .

_4Ap b, dpe?
= tevE\T—9
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_(%

P Friction
150(1 — €)? MFV°L+ 1.75 (1 —€) V2L
ed,? o ° Pe € ¢, dp

4.3 SUDDEN ENLARGEMENT

An incompressible fluid flows from a small circular tube into a large tube in turbulent flow,
as shown in Fig. 7.6-1. The cross-sectional areas of the tubes are S; and §,. Obtain an expres-
sion for the pressure change between planes 1 and 2 and for the friction loss associated with
the sudden enlargement in cross section. Let 8 = S,/S,, which is less than unity.

Plane 1 Plane 2

=
:_...':F

Cylindrical tube :
of cross-sectional \"Washer-sha ped” \

area 5; surface of area Cylindr:ical tube
S»—5; of cross-sectional
area S,
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(a) Mass balance. For steady flow the mass balance gives
w, =w, or pvS; = pvsS,

For a fluid of constant density, this gives

)

o~
-

(=

<

2

(b) Momentum balance. The downstream component of the momentum balance is

Fs = w, — vaw) + (p,S; — pa5,)

The force F,_.. is composed of two parts: the viscous force on the cylindrical surfaces parallel
to the direction of flow, and the pressure force on the washer-shaped surface just to the right
of plane 1 and perpendicular to the flow axis. The former contribution we neglect (by intu-
ition) and the latter we take to be p,(S, — 5,) by assuming that the pressure on the washer-
shaped surface is the same as that at plane 1.

_P1(S-_> = S]) = pUQSZ(v, = Uz) + (plsl - p253)
Solving for the pressure difference gives
P2 = p1 = povy, — )

or, in terms of the downstream velocity,

g sl 1
P2 Pl—m)z(E_l)

(c) Angular momentum balance. This balance is not needed. If we take the origin of coor-
dinates on the axis of the system at the center of gravity of the fluid located between
planes 1 and 2, then [r; X u,] and [r, X u,] are both zero, and there are no torques on the
fluid system.

(d) Mechanical energy balance. There is no compressive loss, no work done via moving
parts, and no elevation change, so that

E, =1t - o) + 1 (p — p

Insertion of Eq. 7.6-6 for the pressure rise then gives, after some rearrangement,

10
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4.4 LIQUID - LIQUID EJECTOR

A diagram of a liquid-liquid ejector is shown in Fig. It is desired to analyze the mixing
of the two streams, both of the same fluid, by means of the macroscopic balances. At plane 1
the two fluid streams merge. Stream 1a has a velocity v, and a cross-sectional area 35;, and
stream 1b has a velocity 3v, and a cross-sectional area 3S,. Plane 2 is chosen far enough down-
stream that the two streams have mixed and the velocity is almost uniform at v,. The flow is

vy/2 Uy

\
il
!

—= \
/ | S\t\ream la

Plane 1 Plane 2
Stream 1b

(a) Mass balance. At steady state, Eq. (A) of Table 7.6-1 gives
Wy, + Wy = W,y
or
pvoS) + pGUYGS) = pv,S,
Hence, since S; = S, this equation gives
v, =37
for the velocity of the exit stream. We also note, for later use, that w,, = wy, = 5w,.

(b) Momentum balance. From Eq. (B) of Table 7.6-1 the component of the momentum bal-
ance in the flow direction is

(0w, + VWi + PiS) — (Waw, + paS)) =0
or using the relation at the end of (a)
(2 = PIS; = Gvy, + V1) — VIw,
= vy + 300) — 30 (pGrp)S,)
from which
P2 = P = 3%
This is the expression for the pressure rise resulting from the mixing of the two streams.

(c) Angular momentum balance. This balance is not needed.

11



SCH1309 TRANSPORT PHENOMENA UNIT IV

(d) Mechanical energy balance. Equation (D) of Table 7.6-1 gives

] pz - p]
(%v%r!wlﬂ + év%&'wlb} - (%’UE + p )wz = Ezl

or, using the relation at the end of (a), we get

(lzvlzn'ngl + %(%U[J)E(%wﬂ) - (%(%U[J)z + J_ﬁﬂﬁ)wz =E,

Hence
£ E:l 5 2
b=, = 12 ™

45 ISOTHERMAL FLOW OF AN LIQUID THROUGH AN ORIFICE

A common method for determining the mass rate of flow through a pipe is to measure the pres-
sure drop across some “obstacle” in the pipe. An example of this is the orifice, which is a thin
plate with a hole in the middle. There are pressure taps at planes 1 and 2, upstream and down-
stream of the orifice plate.

12
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S, = cross section of pipe = 5,

i
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J é
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I |
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I I
I I
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I |
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| |
| I
| |
h) — e — I
| 1 [
|
|

|
Plane 0 Plane 2
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SCH1309 TRANSPORT PHENOMENA UNIT IV

(a) Mass balance. For a fluid of constant density with a system for which S, = S, = S, the
mass balance in Eq. 7.1-1 gives

() = (v
With the assumed velocity profiles this becomes
So

v] =§vn

and the volume rate of flow is w = pv,S.

(b) Mechanical energy balance. For a constant-density fluid in a flow system with no eleva-
tion change and no moving parts, Eq. 7.4-5 gives
’} 713 y I A

l@_lﬂ+u+E;'=0

2(v)  2(w) P
The viscous loss IA:" is neglected, even though it is certainly not equal to zero. With the as-
sumed velocity profiles, Eq.

P2~ P

%(U% - v%) v p =0

— \/5(_%’1 —p) 1
‘ P (S/S) -1
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5.1 Analogy of Mass Transfer

Mass transfer by convection involves the transport of material between a boundary surface
(such as solid or liquid surface) and a moving fluid or between two relatively immiscible, moving
fluids.

There are two different cases of convective mass transfer:

1. Mass transfer takes place only in a single phase either to or from a phase boundary, as in

sublimation of naphthalene (solid form) into the moving air.

2. Mass transfer takes place in the two contacting phases as in extraction and absorption.

Convective Mass Transfer Coefficient

In the study of convective heat transfer, the heat flux is connected to heat transfer coefficient as

Qlamganlty: 8 (1.1)

The analogous situation in mass transfer is handled by an equation of the form

NA kCECASECAJ -------------------- (12)

The molar flux N a is measured relative to a set of axes fixed in space. The driving force is the
difference between the concentration at the phase boundary, Cas (a solid surface or a fluid

interface) and the concentration at some arbitrarily defined point in the fluid medium, C o . The

3



convective mass transfer coefficient kc is a function of geometry of the system and the velocity

and properties of the fluid similar to the heat transfer coefficient, h.



Significant Parameters in Convective Mass Transfer

Dimensionless parameters are often used to correlate convective transfer data. In momentum
transfer Reynolds number and friction factor play a major role. In the correlation of convective
heat transfer data, Prandtl and Nusselt numbers are important. Some of the same parameters, along
with some newly defined dimensionless numbers, will be useful in the correlation of convective

mass-transfer data.

The molecular diffusivities of the three transport process (momentum, heat and mass) have been

defined as:

Momentum diffusivity P2~ -mmmmmmemeeeeeeee oo (1.3)
Thermal diffusivity K (1.4)
Cp
and
Mass diffusivity D oAB  =-mmmmmeeemmm e (1.5)

It can be shown that each of the diffusivities has the dimensions of L2/ t, hence, a ratio of any of

the two of these must be dimensionless.

The ratio of the molecular diffusivity of momentum to the molecular diffusivity of heat (thermal

diffusivity) is designated as the Prandtl Number

Momentum diffusivity mpy Cp ------------------------ (1.6)

Thermal diffusivity K



The analogous number in mass transfer is Schmidt number given as



BSc 4 (1.7)

=1

Momentum diffusivity

Mass diffusivity D aB D ag

The ratio of the molecular diffusivity of heat to the molecular diffusivity of mass is designated

the Lewis Number, and is given by

Thermal diffusivity @Le . (1.8)

Mass diffusivity D ag CpDas

Lewis number is encountered in processes involving simultaneous convective transfer of mass and

energy.

Let us consider the mass transfer of solute A from a solid to a fluid flowing past the surface of the
solid. The concentration and velocity profile is depicted .For such a case, the mass transfer between

the solid surface and the fluid may be written as

N 2K Cas1C pgl

Since the mass transfer at the surface is by molecular diffusion, the mass transfer may also

described by

N AB8D ap dCa (19)

dy y B0

When the boundary concentration, Cas is constant, equation (9) may be written as

D B
NA A



dic C
Al
dy Asj

y@

(1.
10)



Equation (4.1a) and (4.10) may be equated, since they define the same flux of component A
leaving the surface and entering the fluid

3 ~ P d £
kaAleA-lDAB —ﬂCAECASf

This relation may be rearranged into the following form:

k i ’
c dicaiCasldy

D aB ECACAM

Multiplying both sides of equation(4.12) by a characteristic length, L we obtain the following

dimensionless expression:

Kel diCaiCasldly \y (1.13)

D ag C as 1€ 501

The right hand side of equation (4.13) is the ratio of the concentration gradient at the surface to an

overall or reference concentration gradient; accordingly, it may be considered as the ratio of

molecular mass-transport resistance to the convective mass-transport resistance of the fluid. This

ratio is generally known as the Sherwood number, Sh and analogous to the Nusselt number Nu, in

heat transfer.

5.2 Application of Dimensional Analysis to Mass Transfer

One of the method of obtaining equations for predicting mass-transfer coefficients is the use of

dimensionless analysis. Dimensional analysis predicts the various dimensionless parameters

which are helpful in correlating experimental data.



There are two important mass transfer processes, which we shall consider, the transfer of mass
into a steam flowing under forced convection and the transfer of mass into a phase which is moving

as the result of natural convection associated with density gradients.

Transfer into a stream flowing under forced convection

Consider the transfer of mass from the walls of a circular conduit to a fluid flowing through the

conduit. The mass transfer is due to the concentration driving force Cas—Ca.

These variables include terms descriptive of the system geometry, the flow and fluid properties

and the quantity of importance, Kk .

By the Buckingham method of grouping the variables, the number of dimensionless [1 groups is
equal to the number of variables minus the number of fundamental dimensions. Hence the number
of dimensionless group for this problem will be three.

With D ag, L] and D as the core variables, the three [J groups to be formed are

R o o L o (1.14)
B2 ED AgeDf ---------------------------- (1.15)
and @D “Spnplp (1.16)

Substituting the dimensions for [ ,

B1EBD apbpC
ASBPD Ok

10
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Equating the exponents of the fundamental dimensions on both sides of the equation, we have

L: 0=2a—-3b+c+1

Solving these equations,

a=-1, b=0 and <c=1

k.D
Thus®1 DCAB which is the Sherwood number.

The other two [ groups could be determined in the same manner, yielding

D@
Bp B (1.19)
D AB

aPYe

BS, (1.20)
8D aB

which is termed as Schmidt Number

Dividing U2 by U3, we get

2, Hpgk DE B

By D!Eﬂ

12



which is the Reynolds Number
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The result of the dimensional analysis of mass transfer by forced convection in a circular conduit

indicates that a correlating relation could be of the form,

Sh IRe, Sc! (1.22)

Which is analogous to the heat transfer correlation

Nu IRe, Prl  —emeeeeeeee e (1.23)

Transfer into a phase whose motion is due to Natural Convection

Natural convection currents develop if there exists any variation in density within the fluid phase.
The density variation may be due to temperature differences or to relatively large concentration

differences.

According to Buckingham theorem, there will be three dimensionless groups. Choosing D ag, L

and [ as the core variables, the [1 groups to be formed are

RN T R — (4.24)
B2B0 9% s (4.25)
and @3 @D I Lo . — (4.26)
AB

Solving for the dimensionless groups, we obtain

1 Kel Nu, the Nusselt number
D ag



B — "= , the reciprocal of Schmidt number -------- (4.28)

Sc

L3gA
BD aB

With the multiplication of 0> and 03, we obtain a dimensionless parameter analogous to the

Grashof number in heat transfer by natural convection

3D agBPL 3 gBE,L
B,B300 7l i
g
:
BD ag

L3Egema

The result of the dimensional analysis of mass transfer by natural convection indicates that a

correlating relation could be of the form,

Sh EGrAB gl TTTTTTTTTTTTmmmmmmemoeees (4.31)

5.3 Analogy among Mass, Heat and Momentum Transfer

Analogies among mass, heat and momentum transfer have their origin either in the mathematical

description of the effects or in the physical parameters used for quantitative description.
To explore those analogies, it could be understood that the diffusion of mass and conduction of

heat obey very similar equations. In particular, diffusion in one dimension is described by the

Fick’s Law as

15



J ABED pp

dCa

dz

16



Similarly, heat conduction is described by Fourier’s law as

Where k is the thermal conductivity.

The similar equation describing momentum transfer as given by Newton’s law is

Where [ is the momentum flux (or shear stress) and L is the viscosity of fluid.

At this point it has become conventional to draw an analogy among mass, heat and momentum

transfer. Each process uses a simple law combined with a mass or energy or momentum balance.

In this section, we shall consider several analogies among transfer phenomenon which has been

proposed because of the similarity in their mechanisms. The analogies are useful in understanding

the transfer phenomena and as a satisfactory means for predicting behaviour of systems for which

limited quantitative data are available.

The similarity among the transfer phenomena and accordingly the existence of the analogies

require that the following five conditions exist within the system

1. The physical properties are constant

2. There is no mass or energy produced within the system. This implies that there is no

chemical reaction within the system

3. There is no emission or absorption of radiant energy.

17



4. There is no viscous dissipation of energy.

5. The velocity profile is not affected by the mass transfer. This implies there should be a

low rate of mass transfer.
5.4 Reynolds Analogy

The first recognition of the analogous behaviour of mass, heat and momentum transfer was
reported by Osborne Reynolds in 1874. Although his analogy is limited in application, it served as
the base for seeking better analogies.

Reynolds postulated that the mechanisms for transfer of momentum, energy and mass are identical.

Accordingly,

k
c h f

P———
B84C p 2

Here h is heat transfer coefficient
f is friction factor

U o is velocity of free stream

The Reynolds analogy is interesting because it suggests a very simple relation between different
transport phenomena. This relation is found to be accurate when Prandtl and Schmidt numbers are
equal to one. This is applicable for mass transfer by means of turbulent eddies in gases. In this
situation, we can estimate mass transfer coefficients from heat transfer coefficients or from friction

factors.

5.5 Chilton — Colburn Analogy

18



Because the Reynold’s analogy was practically useful, many authors tried to extend it to liquids.
Chilton and Colburn, using experimental data, sought modifications to the Reynold’s analogy that
would not have the restrictions that Prandtl and Schmidt numbers must be equal to one. They

defined for the j factor for mass transfer as

Nu h

; —
where St is Stanton number = Re Pr c,

Based on data collected in both laminar and turbulent flow regimes, they found

. . f
JpBjHE 5 Tt (4.38)

This analogy is valid for gases and liquids within the range of 0.6 < Sc <2500 and 0.6 < Pr <
100.

The Chilton-Colburn analogy has been observed to hold for many different geometries for

example, flow over flat plates, flow in pipes, and flow around cylinders.

5.6 The Prandtl analogy

In the turbulent core the transport is mainly by eddies and near the wall, that is laminar sub-layer,
the transport is by molecular diffusion. Therefore, Prandtl modified the above two analogies
using universal velocity profile while driving the analogy

19



£

= (4.36)
= 145 |I"_:{F:r'—1"|
B !
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5.7 The Van Karman analogy

Though Prandtl considered the laminar and turbulent laminar sublayers but did not consider the
buffer zone. Thus, Van Karman included the buffer zone into the Prandtl analogy to further
improve the analogy.

f
St = = 2 (4.37)
1+5\g’§[[Pr— D+Inf1+3Pr-1)})

Problem. A stream of air at 100 kPa pressure and 300 K is flowing on the top surface of a thin

flat sheet of solid naphthalene of length 0.2 m with a velocity of 20 m/sec. The other data are:
Mass diffusivity of naphthalene vapor in air = 6 * 10 ® m %/sec
Kinematic viscosity of air = 1.5 * 10 > m 2.sc
Concentration of naphthalene at the air-solid naphthalene interface = 1 * 10 ~ kmol/m?

Calculate:

@ the overage mass transfer coefficient over the flat plate

() the rate of loss of naphthalene from the surface per unit width
Note: For heat transfer over a flat plate, convective heat transfer coefficient for laminar flow can

be calculated by the equation.

Nu®0.664 Re*2| prii3

you may use analogy between mass and heat transfer.
Solution:
Given: Correlation for heat transfer

Nu @ 0.664 Rel2| pr13
21



The analogous relation for mass transfer is

Sh0.664 Re'?l Sc P (1)

where

Sh = Sherwood number = kL/D ag
ReL=Reynoldsnumber= L [1/]
Sc = Schmidt number= [/ (C D ag)
k = overall mass transfer coefficient
L = length of sheet

D ag = diffusivity of Ain B

L1 = velocity of air

L1 = viscosity of air

[1 = density of air, and

L1/00 = kinematic viscosity of air.

Substituting for the known quantities in equation (1)

. . 13
k10.2] 110.2012013% | B15%10858" )

6+10° B15%10 ™5 6*106 :

k =0.014 m/sec

Rate of loss of naphthalene = k (C ai — C an)
=0.014 (1 * 10 ° - 0) = 1.4024 * 10 " kmol/m 2 sec

Rate of loss per meter width = (1.4024 * 10 ") (0.2) = 2.8048 * 10 ~8 kmol/m.sec
= 0.101 gmol/m.hr.

5.8 Convective Mass Transfer Correlations
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Extensive data have been obtained for the transfer of mass between a moving fluid and certain
shapes, such as flat plates, spheres and cylinders. The techniques include sublimation of a solid,

vapourization of a liquid into a moving stream of air and the dissolution of a solid into water.
These data have been correlated in terms of dimensionless parameters and the equations obtained
are used to estimate the mass transfer coefficients in other moving fluids and geometrically similar
surfaces.

Flat Plate

From the experimental measurements of rate of evaporation from a liquid surface or from the
sublimation rate of a volatile solid surface into a controlled air-stream, several correlations are

available. These correlation have been found to satisfy the equations obtained by theoretical

analysis on boundary layers,

Sh 2 0.664 Relféc 13| Jlaminar] Re L 83*10 5

; j > 5
Sh 2 0.036 Re OLS Sc 13| lturbulent! Re L @B3*10~  ___________ (440)

Using the definition of j factor for mass transfer on equation (4.39) and (4.40) we obtain

ip@0.664 Re 1i | llaminarl Re | 83*10°  _____________ (4.41)

Jp £0.037 Re'%?lturbulent! Re 83%10°  ______ (4.42)

These equations may be used if the Schmidt number in the range 0.6 < Sc < 2500.

7. If the local Nusselt number for the laminar boundary layer that is formed over a flat plate is

Nu,#0.332Re 2| gc1/3
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Obtain an expression for the average film-transfer coefficient L1k ¢, when the Reynolds number

for the plate is

a) Re = 100 000
b) Re L = 1500 000

The transition from laminar to turbulent flow occurs at Re x =3 * 10 °.

Derivation:
L
K c dx
By definition : k¢ & © T
@dx
0
;
and Nu [k);x; Rey ; Sc

For Re L =100 000 ; (which is less than the Reynolds number corresponding to Transition value
of 3*10°)

L 1D
1
0.33§]XVWZLZSCE AB 4
_ ' :
kCO f f X
L
: 51F112 ‘
0.332 'S¢ * Ld x
B !
L DABI_ZT
o X
12
0332 13NVI 12t
| b
Sc DAB X |
1L °
2
; Kel 12! 13
(i.e) D, 10-664Re *? Sc [answer (a)]
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For Re | = 1500 000 (> 3 * 10 )

25



=

i

c
|

Lt L

B0332Re ' | go13 dx, BO.0202Re,*%| go13 9%
Cx X

0

=

where L ¢ is the

K BD pg -

distance from the leading edge of the plane to the transition point where Re x =3 * 10 °.

l D)
] ]]12 ‘_t dX V45|_ dX
\ \ |
2 o B
0.:«;32&:13 - 100292 Sc'?
KCDAB. L Lt
KcL L 45
c 12 13 0.0202 13f] ast aves |
m0.664 Re,  Sx s | x |
D ag t 45 Lo

| | | |
. 12| 13 13
[0.664 Re"” Sc *~ m0.0365 Sc Re ¥5 Re 45]]

\ \ \ \
t L

~|
©
—

P0.664 Re 12 sc!3 m0.0365 Re*® Sc!®80.0365Re*® Sc!3where Req=3*10°
t

O
>
o3}

Single Sphere

Correlations for mass transfer from single spheres are represented as addition of terms representing
transfer by purely molecular diffusion and transfer by forced convection, in the form

Sh@Sh, BCRe™Sc" (4.43)

Where C, m and n are constants, the value of n is normally taken as 1/3

For very low Reynold’s number, the Sherwood number should approach a value of 2. This value

26



has been derived in earlier sections by theoretical consideration of molecular diffusion from a

sphere into a large volume of stagnant fluid. Therefore the generalized equation becomes

Sh @28C Re "sSc 3 (4.44)
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For mass transfer into liquid streams, the equation given by Brain and Hales

shearizr  pe2pl'f
B4 8 YL — (4.45)

correlates the data that are obtained when the mass transfer Peclet number, Pe ag is less than

10,000. This Peclet number is equal to the product of Reynolds and Schmidt numbers (i.e.)

Peag BRe SC___ (4.46)

For Peclet numbers greater than 10,000, the relation given by Levich is useful

shm1.01 Pe' 3 (4.47)

The relation given by Froessling

Shm2m0.552 Re 12 5¢ 13- (4.48)

correlates the data for mass transfer into gases for at Reynold’s numbers ranging from 2 to 800

and Schmidt number ranging 0.6 to 2.7.

For natural convection mass transfer the relation given by Schutz

Sh B2 50.59 Gr ag Sci** |

is useful over the range

2*108<GragSc<1.5*10%0
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Problem. The mass flux from a 5 cm diameter naphthalene ball placed in stagnant air at 400C and
atmospheric pressure, is 1.47 * 10 ~> mol/m 2. sec. Assume the vapor pressure of naphthalene to
be 0.15 atm at 400C and negligible bulk concentration of naphthalene in air. If air starts blowing
across the surface of naphthalene ball at 3 m/s by what factor will the mass transfer rate increase,

all other conditions remaining the same?
For spheres : Sh=2.0 + 0.6 (Re) %° (Sc)%%

Where Sh is the Sherwood number and Sc is the Schmids number. The viscosity and density of air

are 1.8 * 10 ° kg/m.s and 1.123 kg/m 3, respectively and the gas constant is 82.06 cm 2 atm/mol.K.

Calculations:

ko L

Cc
Sh D as where L is the characteristic dimension for sphere L = Diameter.

Sc

BD ag
DvQd
—

Re

Mass flux, N o, BKc BEC . 1)

Sh =2.0+ 0.6 (Re) % (Sc) *%
k D DVO'5 50-33
Dc,g #2.000.68 ;—f  0AD,p0 R — 2)

alsoN=K¢ OClp a

C
K Ka
Therefore——

29



Given:

: K
p1.47 * 1073 mol Sc
N ) RT FlA

m “.sec
keg15, 0'2147+10°+10 _ mol
i i ,

RT# 1 B cm <. sec

* a7 -
K. ﬂ *82.06 * 1273 140!

0.15
=0.0252 cm/sec

kc=2.517 * 10 m/sec 3)

Estimation of D ag:

From (2),
2.517*10%4* 5% 1002

2 (sincev=0
D A5 ( )

Therefore D ag = 6.2925 * 10 ~® m?/sec.

And

0.5
k *5*10°%2 B5* 1072+ 3+%1.123 0
20'6 8+10"

[ i i

7946 k ¢ = 2 + 0.6 * (96.74) * (1.361)

K ¢ =0.0102 m/sec. (4)

0.0102
@, Na 7 40.5

(B) Ny 2517+10%
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Therefore, rate of mass transfer increases by 40.5 times the initial conditions.

Single Cylinder
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Several investigators have studied the rate of sublimation from a solid cylinder into air flowing

normal to its axis. Bedingfield and Drew correlated the available data in the form

which is valid for 400 < Re / <25000

and 0.6<Sc<26

Where Re/ is the Reynold’s number in terms of the diameter of the cylinder, G m is the molar
mass velocity of gas and P is the pressure.

5.9 Flow Through Pipes
Mass transfer from the inner wall of a tube to a moving fluid has been studied extensively. Gilliland

and Sherwood, based on the study of rate of vapourization of nine different liquids into air given

the correlation

Sh p BFr)l m 20.023 Reo'83 Sc 044 s (451)

Where p B, m is the log mean composition of the carrier gas, evaluated between the surface and
bulk stream composition. P is the total pressure. This expression has been found to be valid over

the range

2000 < Re < 35000
06<Sc<25
32



Linton and Sherwood modified the above relation making it suitable for large ranges of Schmidt

number. Their relation is given as

Sh®0.023Re 8% Sc P o (4.52)

and found to be valid for

2000 < Re < 70000
and 1000 < Sc < 2260

Problem. A solid disc of benzoic acid 3 cm in diameter is spin at 20 rpm and 250C. Calculate the
rate of dissolution in a large volume of water. Diffusivity of benzoic acid in water is 1.0 * 10 =

cm ?/sec, and solubility is 0.003 g/cc. The following mass transfer correlation is applicable:

Sh=0.62 Re * Sc 13

D2anm

WhereRe® ™~ and O is the angular speed in radians/time.
Calculations:
Dissolution rate = Na S 1)

Where N a = mass flux, and

S = surface area for mass transfer

NA:kc(CAs—CAD) ______________________________________________ (2)

Where C as is the concentration of benzoic and at in water at the surface of the dose.

C a0 is the concentration benzoic acid in wate for an from the surface of the disc.
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Given:
Sh=0.62 Re* Sc 3

1
kD 8D 2p@Ek2 B = ical

(ile)p . mo62n 5 fop g @ T 3)
]

1 rotation = 2 [ radian

Therefore 20 rotation per minute = 20 * 2 [ radian/min

20 * 2@ radian sec

=]
o
o

For water (1 =1 g/cm 2 [0 =1 centipoise = 0.01 g/cm.sec.

From (3),
1 1
EREE2  — 03
B B B
kC 2 0.62 DAB DAB
1 1
0.62*1.0*105@?;10 60l* 1121 001 13

I
] 0.01 B1*1.0%10 5
=8.973 * 10 * cm/sec.

From (2),

N a=8.973*10 4 (0.003 - 0)
=2.692 * 10 © g/cm 2.sec

From (1),

NaS=Na*(0Or?
=2.692*10 8* (20 *1.52)
=3.805 * 10  g/sec
=0.137 g/hr.
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5.10 Hot Wire Anemometer
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A hot-wire anemometer measures local instantaneous velocity based on principles of heat transfer.
However, it requires that the fluid itself be at a uniform temperature. It can be used to measure
three components of velocity and velocity fluctuations arising in turbulent flow. This is possible
because of the high speed of response of the hot-wire probe and the associated feedback circuit. A
hot-wire probe is used in gas flows, while a hot-film is used for liquid flow. The hot- wire has a
limitation that it is insensitive to the flow direction. Further, it has a non-linear input- output
relationship which makes its sensitivity non-uniform over any velocity range. In particular, the
sensitivity decreases with increasing velocity. The hot-wire probe is a platinum- coated tungsten
wire, typically of 5 um diameter and about mm length, supported between highly conducting
prongs. Tungsten has high temperature coefficient of resistance (i.e., resistance increases rapidly
with temperature) and the platinum coating affords strength as well as protection against corrosion
of the thin wire.

Characteristics of Hot Wire Anemometry

0 Intrusive Technique
0 Measurement of instantaneous velocities and temperature at a point in a flow.

0 Hot wire anemometry is an ideal tool for measurement of velocity fluctuations in time
domain in turbulent flows.

0 Principal tool for basic studies of physics of turbulent flows.

Advantages of HWA

0 Good Frequency response

0 Measurements to several hundred kHz possible, 1 MHz also feasible

0 WVelocity Measurement: measures magnitude and direction of velocity and velocity
fluctuations, Wide velocity range Temperature Measurements

0 Two Phase Flow: Measurements in flows containing continuous turbulent phase and
distributed bubbles
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Convective heat

transfer Heat transfer

Flow Rate

from filament
varies

varies

coefficient (h)

varies
Currs-y

7 \
; * Wire supponts
f =
Yeugy < / (5.5 needieg
Sencor [thin wie)

Operation of Hot Wire Sensor

/ Prongs ( of Stainless Steel or Nickﬂ

Senzor drrensions.
longth ~1 mm
dlametar ~H micioretar

Fine Wire

Diameter: Sum

Length: 1-2 mm
generally made of

@n or Platinum

Mode of Operation

Probe body

Active Length of \\-J

Structure of hot wire probe

1. Constant Current Anemometer
2. Constant Temperature Anemometer
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Anemometers

Constant Current Constant Temperature

¢ Current in the wire is kept * Temperature hence Resistance
constant of the wire is kept constant by
using a servo amplifier
* Variations in wire resistance ¢ The measurable signal when a
caused by the flow are measured change in flow velocity occurs is
by monitoring the voltage drop the change in current to be fed to
variations across the filament. the sensor.

Circuit Diagram of Constant Current Anemometer
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